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(LI ETERET 1.40| 106.4] 104.0|| EEEF HEERT 1.32] 112.9] 95.2

2H 1.43| 100.0| 100.0|| #&LER TLZERT 1.38] 107.0] 92.9|| EZHHER JINEHT 1.44| 107.9] 94.8
T LER 7 EET 1.41] 119.1| 110.4|| E&0ES AT 1.52| 106.1] 100.7

JhiEE 1.30( 102.0f 98.9|| #ELEE JEIRERET 1.51] 104.6| 103.5|[ EaiEL BRLi .62 94.0[ 92.2
TEED ZERHT 1.20] 98.3 104.7|| ‘EATER WL BIAS 1.35 101.8] 103.0

ALIg 1.16] 98.5| 95.5|| EFRER BT 1.78| 110.4| 107.9|| FiEER 15 1| AT 1.45] 95.5] 90.3
AL X 0.98] 96.3 o1.7| wEHIES L 4mT 1.42| 88.3] 92.3|| FiE#E REEHT 1.47] 105.5( 97.4
AL T kX .13 99.1 96.5|| AEER 7 7RET 1.29] 104.5| 91.9|| Z=&E BT 1.63 103.0[ 104.4
AL HX 1.26 100.9| 101.8|| B4&EL SLieay 1.29] 110.3| 113.9|| He=EER TECTE BT 1.56] 102.1] 94.6
AL HARKX 1.29] 111.0] 104.9|| HH#EL FERET 1.32] 113.5) 94.1|| He==ES FRE R AT 1.38] 103.8[ 96.1
AL T BIEX 1.17] 100.1] 97.1|| H#EP EARANET 1.29] 106.8| 85.8|| HEES FeszAT 1.60] 113.7[ 99.1
AL X 1.13| 95.2] 91.1|| BERER P RRET 1.63| 95.6] 96.6|| KIEER 25 1.54] 104.2]| 102.9
AL T T X 1.22] 96.6] 93.9(| #-HER =t =fi7 1.48] 99.1| 94.3|| #LCER FLTHT 1.42| 100.8] 109.2
AL JE A X 1.11| 94.3] 92.5| HCMES BEAFR 1.39] 97.1| ss.2|| FIRER BT 1.34] 100.1] 96.6
AL FHEX 1.23] 95.1| 91.4|| w-HEER BT 1.46] 101.7] 98.8|| FIREF F & - HT 1.28] 97.4[ 90.4
AL 1B HEX 1.12] 92.2] 89.7(| #t-HER ERAIET 1.19] 92.7( 110.0|| FHEER MRAEHT 1.69] 101.8] 105.4
HAETH 1.25| 115.3| 108.6|| #t-HER vty 1.45 90.7| 91.4|| MWER B 1.44] 99.3[ 92.9
/T 1.18| 113.9| 105.5|| #-mEER {BEn 22T 1.65| 109.4| 9s8.3|| MEE BRI AT 1.50] 105.5) 96.3
BT 1.38] 100.1| 97.2|| HHER FEFnlT 1.72] 103.0] 106.8|| HIEER AR ET 1.60[ 101.3[ 95.9
E{ il 1.45| 112.9] 109.0|| HMER A PNET 1.57| 127.8| 117.0|| MIEER 1B AT 1.54 101.9] 93.9
Bl=gn 1.31| 110.5] 104.3|| EHFEL Ak 1.36] 108.3 110.1|| RIEES JINE KT 1.66] 90.4[ 93.7
IR 1.42( 98.1 96.1|| HFEL FHFE T 1.38] 98.6| 89.6|| #EES 7 FFHT 1.51] 89.2[ 86.6
Bl 1.40| 101.8] 99.4|| #EMER TEFHET 1.51] 112.9( 111.8|| #EE B HT 1.36] 94.0] 90.9
A BETH 1.22| 111.9] 103.4|| &HFEER ST 1.62] 117.3| 110.5|| % 27 e 2 FETHT 1.55| 97.0] 94.0
A AR 1.28| 106.1| 100.4|| &HER {ZARHT 1.41] 114.7 114.5|| HCBIER T HRAT 1.65| 93.3] 97.8
A 1.47] 100.9] 98.6|| ATHER RTTHET 1.44| 109.9] 104.3|| #BIER VBRI 1.61| 101.4] 88.5
AT 1.61] 108.9] 96.0|| &THEP ARFF) RS 1.44| 102.6] 96.4|| #BIER T AT 1.39] 104.2] 95.4
/N 1.56| 103.4| 103.8|| Z=4n®Ep P R AT 1.21| 100.5| 87.3|| #CHIES BLERHT 1.60| 106.7[ 95.8
HeN T 1.58| 116.6| 120.3|| Zz@n®Ep ZRIFITHT 1.36 108.1| 101.1|| #rRUER 5 LA 1.20] 115.1f 112.9
FEMETH 1.29] 108.8| 106.4|| zZ=%nEk RY)IET 1.28] 101.8 102.7|| #cBIES TERET 1.63] 109.8] 101.8
FR 1.27] 117.8] 108.8|| #3EEF F{ AT 1.46| 105.4| 111.4|| #EEER KZEHT 1.60] 95.8] 94.5
haw; il 1.15) 89.9] 93.7|| X3EES RVEHET 1.34] 91.5( 91.2|| #-mES BT 1.36] 110.7] 98.1
R 1.27] 124.7] 102.8|| #EED ZEILIET 1.37| 98.5| 95.6|| HEEER HAEHT 1.27] 92.5] 80.4
Gl 1.68| 114.8] 105.5|| HEFER A 17 1.34] 88.4| 91 1|| BEE HEHT 1.32| 112.3] 107.7
szl 1.46| 87.7| 90.0|| HEFER biil=ka) 1.38] 103.4| 90.8|| BHES JEERT 1.37] 90.8] 94.5
& Fm 1.52| 100.8] 95.5|| HEFER Fr+i) 1A 1.32| 87.4] 76.8|| #CHER TR FR AT 1.32] 99.3] 93.4
=% 1.35| 124.6] 109.6|| F&EEF PR LT 1.33] 94.6] 93.6|| BHEF BT 1.44| 94.4] 100.3
fREH 1.67| 113.7| 114.2|| F#&EES FRAHIET 1.41] 98.8| 97.3|| BHLER e HT 1.45] 104.4| 105.5
Frirhi 1.52| 93.0] 94.9|| FEER FEERT 1.39] 89.2| ss.1|| WuEES A AT 1.61| 101.8] 116.2
&) 1.50| 105.8] 102.9|| FR&EEP e 1.39] 88.0| 96.8|| vbiEES SEHR AT 1.52] 106.7] 102.6
)1 1.35) 96.9 100.3|| FEER VB EHT 1.55| 95.0( 98.7|| #HEES HTRLAT 1.56[ 107.0[ 93.6
HENT 1.28] 121.3] 113.6|| _EJIER JE T 1.33| 102.5] 92.4|| H{ER JRITRTET 1.43] 107.7] 98.3
T 1.39] 98.6] 94.4|| _EJER FUPAEHET 141 91.5] 89. 1| #EELES ERIIAT 1.53] 106.9[ 94.1
EREMN 1.42] 92.6] 9s8.0|| _EJIER L JFRAT 1.31] 98.1| 99.2|| "REER Z0 HET 1.75| 111.9| 108.4
R 1.46( 99.9] 98.8|| _LJIER FEARET 1.26| 100.8] 92.7|| H&EER FrOTZ 0T 1.73] 104.8] 97.4
HEpET 1.30] 97.3] 93.5|| _LJIER R 1.30| 101.0| 96.4|| JTHER Ll 1.45] 90.3] 87.7
FriEmm 1.41] 99.9] 97.4|| _EJIER b )1ET 1.45] 99.1| 99.6|| iATEES LRRET 1.44| 108.7| 106.1
Bl /N =) 1.18] 88.8] 83.9(| _EJIER i) 1.38] 86.6| 96.0| iATEES R ET 1.53] 95.2]| 103.2
BFFH 26| 97.1| 97.5|| EJnEp BT 1.44| 98.1| 93.5|| EES FEERT 1.64] 88.4| 100.2
ek 1.43 119.0| 106.0|| Z=4nER E BT .62 97.1| 102.2|| LJIER FAT 1.44| 111.6 104.7
AFFER 2 RIET 0.96] 92.0| 88.8|| Z=xES FE REFAT 1.46] 90.5( 102.5| _EJUES 1E7KHET 1.43] 92.0] 91.0
AIFER B AT 1.40| 108.6| 100.4|| Zz@nER Ep=g=%:2u) 1.36| 111.2| 112.1|| WIEEER AT 1.55| 87.6| 87.9
FARTER FARITET 1.35| 122.6] 109.5|| BBHAER o5 T 1.28] 92.5] 95.0|| {AITEER FFALNAT 1.39] 105.2]| 103.2
FARTER & BT 1.45| 116.9] 118.1|| _EJIIER FnsEmT 1.32] 96.9| s6.6|| {AITEER BRI 1.56] 95.1] 89.0
R&ED FIPNET 1.55| 112.2] 99.0|| _EJIER AR .27 93.7] 102.3|| JERER KT 1.59] 84.7| 87.6
R&ED A PET 1.37] 112.8| 106.6|| _EJIIER TJIET 1.36] 105.1| 101.5|| J/ERER JERERT 1.67] 99.3] 101.8
& HER LERET 1.35) 99.1 96.1|| HJNER ESES g .25 931 94.9|| HJIER FERIAT 1.41] 89.8[ 94.9
SEENED FEERET 1.38| 105.4| 111.9|| =JUER BT AT 1.35) 95.1 9s.0l| HUIER L AT 1.38] 91.0[ 96.1
SEERER FRET 1.55| 127.7] 109.5|| FJIER o)1 [ET 1.54] 97.0] 100.9(| HFJIER BHERT 1.30] 92.3] 93.4
YRR J\EHRT 1.54 109.9| 105.7|| &AL AN P ET 1.26] 97.2[ 93.7|| FJUES BT 1.64] 101.1] 96.6
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prseil JEHET 1.65| 97.1 92.9||BFE 1.46| 105.9| 102.6|| LEmES A BT 1.35] 95.8] 97.4
SRR ezl 1.36| 97.1] 90.1 SEHED SEmET 1.33] 95.8] 107.6
AR THRET 1.49( 106.1| 103.4|| &M 1.36[ 100.3| 99.4|| semES )1 S AT 1.22] 99.6[ 94.0
HIIFEED S HT 1.43| 115.1| 103.5|| =& 1.59| 108.3]| 105.8|| {FEES SLARAT 1.42] 97.7] 102.6
JE AR JE R HT 1.43| 104.8| 100.8|| KApEd 1.63| 107.6| 101.4|| EPEAET EERHT 1.27] 99.1] 100.8
JE=ER ieesling .73 99.2| 111.9|| FE&EH 1.44| 107.6] 102.5|| EHEER 1L CHT 1.29] 94.8] 99.2
NI R FEZSHT 1.66| 98.7[ 105.9|| AvLk 1.55| 101.6 99.2|| ‘EIRES B AT 1.17| 100.4 91.4
JI| &R %IRRT 1.35| 101.5] 93.7|| AZ&H 1.57| 112.9( 104.9|| =IRES £ HT 1.17] 98.9| 114.4
FAJZERT AR 1.48| 90.7| 88.5|| =EEFT 1.49] 107.3[ 100.8|| =IRES T 1.37] 85.9] 89.6
EUERR I HEHT 1.29 118.5| 119.1|| —EgT 1.50| 107.0f 103.0|| EJIES KFOHT 1.65| 87.5] 103.6
TFAHER BIERT 1.74) 93.4| 102.5|| EediEmET 1.57| 98.4] 92.0|| EJIES KRR 1.34] 103.2| 103.0
TEEERR A R ET 1.58| 102.3| 101.3|| AT 1.59| 117.4| 115.3|| EJIER PN o 1.64] 96.1] 105.6
TR AT 1.68| 114.4| 119.2|| —=FmH 1.50| 118.3]| 107.8|| /mzEER A FRAT 1.44| 109.6] 108.5
HZUER FEFIET 1.50| 106.6| 114.0|| J\W&EFEH 1.42] 104.0[ 99.9|| fNEER JNSERT 1.46] 105.7| 101.9
L T 1.54| 101.4| 101.6|| FEHEES TBAHT 1.29] 111.0f 103.7
HHE 1.42| 119.0| 110.8|| ¥R 1.43| 98.9] 9a.7|| EmzER = HAT 1.32] 107.6| 110.3
EFED FRET 1.44] 105.0| 100.8|| #LEEES # )1 BT 105.3[ 105.9
HRRM 1.35| 118.0| 114.2|| H=F#EP HA&RT 1.56 118.1| 119.9|| AFE A = flT 1.54| 101.6| 91.4
SLANTT 1.32| 120.5| 110.6|| HFEF =T 1.52 110.7| 104.5
NFTH 1.54| 115.4| 109.3|| “kEER SRIEET 1.41] 107.2| 105.6([FKmE 1.34| 108.7| 105.5
p v eans 1.33 126.7| 112.7|| SR¥ER PNLLT] 1.32[ 102.7] 92.3
EnplN 1.37] 119.9] 110.9|| FnEER FEFNEHT 1.49] 99.6| s8s.0|| FkHH 1.32 101.4[ 102.3
+FfomE 1.39] 110.4] 102.4|| RERER &7 IR T 1.60| 102.7| 105.5|| #efRH 1.28] 118.0] 105.3
=R 1.78| 113.2]| 108.2|| PEAXHAL |FIRET 1.54] 104.5( 100.1|| K&=FEH 1.39] 107.0] 103.9
FooTH 1.60[ 124.1| 114.4| SKALES EHET 1.40| 102.6| 103.1|| KEET 1.38] 108.6] 102.1
SONRBHTH 1.40| 120.9( 106.7|| _LEAEER | HBRET 1.63| 116.8 113.0|| HERETH 1.23] 107.7[ 103.9
SEI 1.32| 123.9] 108.5|| TEAGHER |ILHET 1.60| 107.3| 110.8|| BRT 1.32 107.3] 111.0
BEERER | TENET 1.40| 129.6| 126.4|| TREAGHER [ RET 1.63| 112.7 119.8|| REEATH 1.43] 108.2| 109.2
BUEERER |4 BIAT 1.37( 119.8( 119.1|| TEAGER |HEFMAT 1.66] 107.5| 109.1|| EFIAEd 1.37] 109.0f 105.3
HUREBRAS  [FEEA 1.49| 119.6]| 121.1|| TEAGHEL [k 1.60| 101.5( 102.5|| BE 1.33] 109.4| 101.9
BURERER  |Sh 4 IRHT 1.43| 118.4| 110.8|| LFER HRRAT 1.50| 114. 1| 111 1f| KALTE 1.42| 116.1] 112.3
VEEEERRR |68 4 IRET 1.34| 120.1] 114.9|| LF#ER 2 AR 1.54| 109.2( 96.8|| dtEkmETH 1.44| 112.3] 106.1
VEERERAR  [RIEET 1.39] 117.5| 107.5|| JLFER JUF 1.66] 109.9| 104.6| (zauEH 1.41| 111.7] 110.3
hEERAR |V B EA 1.41| 121.4] 109.5|| SLFER PEEFET 1.48| 110.6| 102.2|| ALdET 1.38] 111.9] 105.4
FHEEERER | HRIGET 1.36] 119.5| 114.5|| —F#F — T 1.42| 118.6| 108.2|| REAES /NIRRT 1.37] 123.2| 107.9
FEEEERER | KHEET 1.32] 132.3] 121.3 ALAKEES | /N AT 1.36] 113.6] 108.0
FAEERER | SRR 1.56| 124.6[ 109.s|[=HmE 1.35| 96.4| 99.0| ILAZER TERELAT 1.36] 112.9 113.3
ACEEEEEL | ARHIET 1.44( 121.9| 117.9 ILAER = FERT 1.28] 121.0] 108.8
JeEaRER  |ESEET 1.38] 119.5]| 110.4|| (L& 1.30] 89.8] 93.7|| uAER NG 1.33] 113.3[ 110.3
Eleee 5 S b =] 1.41| 129.3 113.7|| fu&H FEX L11] 90.1 94.1f| FERKEES [T ERT 1.33] 112.2| 112.5
EAeER 7370 T 1.46| 118.7| 102.9|| fLAET B X 1.50] 91.2| 92.8|| FERKEAR |/\ERIEET 1.32] 108.8] 94.4
ALER LFET 1.44| 115.6] 102.4|| fLAET AR 1.42] 92.9| 101.0|| FERKHEEL |HJIET 1.31] 101.6] 95.2
kAb#En avaliill 1.57| 113.4] 105.7|| fL&EH KAKX 1.37| 93.5| 94.4|| FEBKEEL | KEA 1.35] 101.1] 103.7
FACER ity 1.52 128.5 108.4|| fu&TH RIX 1.26| 83.1 89.6| ALALES SEIRET 1.32] 108.0[ 103.8
kAEED AT 1.65| 119.9] 104.8|| F=&H 1.42| 101.4] 100.5(| HERSER PR 1.41] 109.2] 112.8
LACER N FTRE 1.74| 120.2| 118.4|| &S 1.25| 104.3]| 106.2|| HEREER BRI 1.39] 108.8] 96.0
ALER FU B HHET 1.64| 117.5| 104.6|| =ALEBETH 1.54 103.9[ 100.0
TALER KEHET 1.57] 119.8] 118.0|| m&E™ 1.36] 95.9] 103.5(| LK 1.46| 101.5| 102.5
TALER BT 1.64| 116.0 112.7|| 4EmH 1.51] 95.6[ 101.0
TACER R 1.39] 121.4] 120.7|| AmETH 1.25| 101.9( 97.5|| L 1.40] 91.9] 96.4
TALER PEHAT 1.40| 124.5| 109.2|| ZEHmE 1.57| 97.4| 104.5|| kR 1.37| 104.9( 101.4
=ZFEB =T 1.38] 117.0| 123.4|| EH®|H 1.37| 90.8] 96.9|| #EmMT 1.53] 106.5| 105.9
=ZFEB FFHT 1.38| 114.9] 101.9|| =k 1.51| 103.6| 103.3|| EMET 1.48| 108.9] 110.2
=FER TR 1.48| 117.4| 123.6|| ZEEH 1.48 102.1 99.6|| 1.60[ 106.2[ 109.8
=FER FAETRT 1.42| 121.6| 102.7|| =BT 1.53| 100.5( 102.5| =&fCH 1.51] 94.1] 88.5
ZFER P -mT 1.33 116.7| 102.1|| HKwETH 1.46| 106.5 107.8|| LiLfh 1.29] 100.9[ 97.5
=FER BT 1.48| 110.9| 106.3|| BEHH 1.39] 85 1 s8s8.1f| AL 1.39] 93.4] 97.0
X EHER st 1.49| 101.6| 102.3|| EFHih 1.57| 104.0[ 108.7
XI|FHEAB 4 EHT 1.35] 98.6] 96.5|| FEMH 1.56] 94.3] 101.4
SEHED KA JE T 1.49] 90.6| 96.9|| IR 1.59] 96.2[ 89.4
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RALIRT 1.58| 101.6] 103.4|| K¥#®BEP e BT 1.51] 116.8 104.0|| /hEES 1.48] 111.2| 115.1
F T 1.47) 109.8]| 102.4|| PEEAEL  |FEEFS 1.65( 109.9| 118.4|| FEZRIKES [ZKIKET 1.34] 96.5] 101.1
BWATLAR  [LmET 1.35| 91.8| 94.2|| PEEIMAEL |RIEH 1.48]  98.1| 102.3|| HZIRAEL |KBEET 1.33] 115.6] 115.7
FAFILES | LET 1.34] 99.9| 105.7|| PEETEL | B 1.53] 98.7| 96.0|| BEFIREL |HEHET 1.14| 101.4] 103.0
wEAFILER  [RARET 1.48] 92.3| 92.5|| PEHETAL |HRAKET 1.70| 101.7| 101.2|| BRETHES B 1.71] 100.7 103.7
FERFILER | FEJIAT 1.33] 94.0[ 99.7|| HAJIEE |WHAET 1.65] 109.7( 102.9|| ~AzEER KT-RT 1.36 108.5[ 101.9
FERFILER S RET 1.49] 94.7| 94.5|| FHEEJIEL |FRERET 1.72] 107.6| 110.5|| FREES EiR 1.58] 113.0f 114.1
FERFILER | RITHET 1.44( 106.2| 112.4|| HEBEJIES |HHET 1.65| 97.7| 102.6|| FEEED Fef BT 1.35] 100.9] 107.0
eAFILES | KA HET 1.48| 108.4| 108.6|| FEEJIAEL |&)IF+ 1.61] 98.6| 105.1|| FEEES AT AT 1.19] 114.5] 113.7
7 AR 4 (LT 1.57| 110.0]| 111.6|| H#JIED Faylilag 1.45| 103.0| 104.3|| #EHRES I\FARET 1.49] 108.8| 108.4
e HE B AT 1.65| 107.2| 109.2|| #=INER ESLIVa 1.54| 106.5 106.0|| JEEE FLEERT 1.14] 120.4f 115.1
& LER FHEZET 1.51| 109.8] 108.1|| H=JIER SEEF 1.55| 114.4| 99.3|| #mEER FAET 1.57| 119.6 113.5
& EAL HEJIIT 1.57| 120.7| 115.4|| AJIER &) 1[BT 1.52 100.2| 104.9|| ALtBEER |[FIARET 1.04| 96.8| 106.8
i BB Kiders 1.52| 105.9 114.2|| AINER BT 1.51] 112.3[ 103.0
b nk | ik ) |4+ .60 112.1| 122.3|| mMEKER =&AT 1.36] 91.5 100. 4||HFALR 1.46| 105.7| 108.1
i AR FRA 1.51| 106.8| 111.4|| mMEHER INEFHET 1.50] 100.6[ 101.0
WEBE =BT 1.52 102.2| 105.5|| mEERR JREFRT 110.4] 116.6|| =F#EB=H 1.53] 101.7 105.0
WEBA  |)IIVEET 1.49| 112.4| 108.5|| mEERER HEEERT BRI 1.41] 110.4| 114.4
FEEBES  [/NEET 1.51| 105.4| 114.3|| RMEEES & AT WA 1.34| 108.8| 114.6
WEEBE | EERT 1.42| 106.5| 103.8|| XIEEF JIPIRS e 1.46] 116.3] 117.5
TEBE AT 1.58| 110.3] 106.3|| XXIEER KEERT BB 1. 44| 108.0[ 108.0
SEHEJIER | =) IET 173 99.7] 93.2|| XIEER IEERT A Y 1.35] 109.0 107.3
EHEJIER  [ERNET 1.55| 105.8] 105.3|| MIEER IRITAT ANTIGH 1.47| 106.1] 106.9
BaifEER WEERT 1. 44| 114. 4| 114.1|| MERR BHREFR B[ 1.60| 109.3[ 108.0
FEEER S HuET 1.50| 104.6| 104.7|| KHEEH 1.35] 100.4]| 100.4
BER 1.56| 105.4| 106.2|| fEEEL BREEFT AR 1.43| 102.7[ 100.9
AR 1.55| 101.1f 99.5
L= 1.44| 93.6| 99.6||ZmE 1.46| 103.9| 106.3|| =< & 1.62] 100.3[ 100.8
ST 1.53| 104.7| 106.7 A W 1.36] 104.0 110.2
ST 1.48] 96.4| 102.0|| KkFEH 1.57] 98.1| 96.1|| T 1.37| 98.9] 107.2
WhEf 1.49( 106.6| 104.7|| B3z 1.40[ 100.1| 105.0( JTPER L= my 1.51| 101.1| 113.5
=FENG 1.59| 100.2]| 102.3|| LA™ 1.48| 105.0 109.3|| ¥&EER 50T 1.40| 110.8] 113.4
AT 1.49( 105.7| 103.1|| EyAH 1.44| 112.3] 114.9|| F&E#ER TRAHT 1.31] 105.3] 106.7
- Yl 1.70| 109.6| 98.0|| mMEH 1.44| 105.6| 105.3|| FEES i EET 1.38] 103.4| 112.1
ABET .68 99.7 102.7|| #EsTH 1.51| 103.2| 106.5| HEES FHASHET 1.51] 108.4f 119.1
TARRATH 1.42| 102.1]| 102.0|| #E# KT 1.32 103.1| 112.4|| THEVEES |L4T 1.34] 105.2] 111.0
2 E ST 1.53| 101.2]| 106.8|| T=EmH 1.54] 112.8 107.5|| T#ESEAER |BFAHET 1.35] 103.1] 109.3
[EEisk=n 102.3] 109.4|| HE#H 1.40| 108.7| 108.2|| HEAER AT 1.32] 110.9[ 108.8
g 1.31| 101.4| 102.7|| #EeAmE 1.22] 100.5( 100.3|| HEAES AR IRAT 1.55[ 102.1[ 100.6
AE 1.46| 102.5] 99.7|| E#FKH 1.36] 104.5( 105.9|| IRZEES EliZ=tg 1.44| 111.4] 104.2
(FEEAD ZYrHT 1.38| 103.5| 103.1|| deFmTE 1.41| 107.8| 111.8|| BRZEES FRET) 1| BT 1.34] 96.9[ 108.3
FERR (= AT 1.34| 102.6| 97.7|| &R 1.36] 100.2| 104.4
FHERR JI{SHT 1.38| 101.4| 104.4|| ®WFEH 1.23] 99.6] 105.2||BER 1.47| 102.2| 102.9
LR KRER 1.58 104.6| 108.7|| A 1.47] 88.3| 97.6
A WEER SEAMT 1.61| 116.8| 102.0| < iEH 1.52] 95.0] 96.1|| wiiET 1.47] 96.5| 95.7
SHRER REFT 1.48| 106.4| 111.1|| OEBAnHE 1.58] 96.6| 108.5|| iR 1.52] 98.8 101.9
FASHEED | TR 1.55| 101.6| 100.0|| REMETT 1.79 108.8| 108.1|| HA47H 1.28] 109.9 113.1
[EEa3e 2 S i o5 7] 1.51] 96.0] 99.0|| Wik 1.37 110.7| 107.5( {FENETH 1.57| 100.3| 103.4
FASEES (R AT 1.54| 97.5] 96.8|| sEAT 1.50| 91.6| 101.8|| kM 1.62| 105.2] 104.1
PSR RS AT 1.54| 100.0] 100.0|| ®EkEEKET 1.34| 93.2| 98.3|| wEmEH 1.51| 105.8| 106.6
HLRRER JesE AT 1.52| 104.0| 102.5|| FEH 1.40] 96.0| 96.9|| #EMTT 1.42] 109.2| 108.0
ALARER [EESSE-Ling 1.62| 111.7| 104.5|| HidET 1.45| 111.8] 112.0|| #s)iIH 1.34] 104.2]| 103.6
ALARER AEBEET 1.61| 105.0] 95.5|| T 1.45| 116.6| 117.6|| MERIH 1.30] 106.3] 101.6
ALARER FET AT 1.59| 108.4| 101.3|| ek 1.21] 113.7( 114.1|| =R 1.42] 99.2| 103.3
VA ER SR THT 1.48| 105.1| 97.3|| wrzmosin 1.41| 108.6| 115.7|| Zhif 1.32 102.6] 105.1
WTTEED B 1.48| 100.4| 107.6|| #)IT 1.27] 115.4] 105.6|] H&vm 1.54] 106.7 101.3
AIVAER HNEEET 1.57 105.6| 102.0|| #HiETT 1.66| 118.8| 116.3|| AJLEEEAER [HEEAT 1.47] 104.5( 99.7
KIBER =BT 1.55| 103.7| 101.9|| 47h5H 1.33| 106.4]| 112.0|| AcBEHEL |FHMEET 1.66] 99.2] 101.3
KIBER 4 |LIET 1.49| 96.0] 95.4|| &&HET 1.45| 113.6]| 114.6|| ZBEF isigo .51 99.1] 106.9
KIBER BB FnAT 1.46]  99.4] 104.1|| =<EFnbLiti 1.65 102.2] 109.7|| Z%#EL AT 1.43| 105.3] 111.8
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itk WRETHASEHHERHER - BEEECTH 12-4)

BER-BER- TER - ®ES

N EY 3 ANZ 3 ANZ B
— %;; EEIET b e BTA gi | merc T gi | mEse
s | B & waEE| B X wAEE| B &
HEEED T mET 1.36] 104.8] 112.8|| dbA&H 1.17] 93.5( 107.6|| THES 1.41| 105.0] 105.9
HEEED A HORT 1.45| 103.8] 100.9|| J\EH 1.49| 106.1] 99.6|| ¥ 1.58] 83.7| 91.2
HEEED HRHT 1.30] 105.0| 109.3|| ®EERH 1.48| 102.5( 109.2| \Ffrh 1.42| 95.5] 96.2
EER 2 G:ET 1.35] 96.1] 96.4|| =4pH 1.46[ 104.1| 105.7(| FFRFH 1.28] 89.1| 96.1
B R TP [RHT 1.43] 102.1] 97.8|| #EHEmEH 1.30] 93.9| 9e.0l| &I 1.32] 98.9 104.1
BEEL TRAAT 1.54) 99.5] 98.1|| WA 1.30] 98.0| 102.3|| &k 1.33] 97.2] 99.1
EEER AT 1.49( 103.1| 107.6|| =EFH 1.16] 105.0( 108.7|| Fih 1.52| 105.5| 101.3
EEER & LA 1.45| 102.2| 102.8|| #&+, BT 1.29| 96.4| 103.6| ‘HuE 1.20] 109.7| 111.2
EERR RE-ERT 1.31| 106.8]| 105.4|| RB&™ 1.21] 98.9 103.0|| % 1.12] 88.0[ 96.7
FIARER A 1.41| 101.1] 106.0|| FH)ITH 1.51] 102.6 107.3|| pmugHES 1.49] 96.6] 103.9
FIRER JIGFS .47 93.7| 72.4|| SUvamESH 1.46| 102.9| 102.5|| #howET 1.52] 102.2| 107.5
FIARER IR FA 1.53| 101.7| 108.8|| EmH 1.42] 96.1| 101.5|| J\iFH 1.16] 115.2| 125.3
FIARER Fr 7 DI HT 1.32| 108.6| 102.8|| JbszEF |GrEET 1.41] 91.9] 96.5|| EnvET 1.39] 93.9] 102.8
P ER EAET 1.29] 98.9] 103.3|| ARIER =F5ET 1.28] 93.2| 94.6|| BHE 1.30] 92.7] 98.6
EHEER WA R 1.19 112.0| 113.6|| ARIER E & ILAT 0.97 103.1| 111.1|| HEH 1.39] 101.9f 111.1
SRS B Fn AT 1.48| 107.4] 105.1|| ARIER A= T 1.14] 106.7| 110.0|| FEE#KTH 1.47| 101.7] 100.3
SRS TR HEHET 1.48| 104.1] 106.2|| EA=ER )1 BT 1.61] 101.6| 104.7|| [EEEM 1.40] 109.9] 102.4
SRS KIRET 1.55 109. 4| 110.8|| HefER LI AT 1.25| 105.8| 116.1|| FEHH 1.28] 106.0[ 109.0
BZEER E2EET 1.32| 101.0| 100.8|| kHA=EF JINIET 1.11] 100.1] 107.4|| 1Lz 1.20] 114.3] 121.4
HEARED JI ST 1.10| 102.2 100.2[[ WA 1.41| 107.3] 107.9
BHER 1.37| 99.8| 104.2|| HA=EF &= RHAT L.11] 108.3[ 107.5|] Ki@EEF 1.25] 101.2] 110.5
FEARER TS LI T 1.05| 88.4| 86.3|| EN&ES 15 % FHT 1.18] 99.7[ 102.1
SV 1.40( 94.8] 97.4|| FAER -3/ ¥ elill 1.19] 107.1| 112.9|| ENSEES SRHT 1.09] 95.2] 104.3
SN EH |HEX 1.44( 96.0] 90.0|| BEARER FERRRT 1.47| 103.9| 116.1|| FHEES AR AT 1.42| 92.5] 107.2
SN FEH X 1.44] 92.0] 97.3|| BEAREF AT 1.39] 103.1| 111.3|| ZEEES EZ=L) 1.33] 104.9] 104.3
I EH [KEX 1.45) 92.5| 102.8|| ®eER RIRET 1.30[ 98.5 107.0|| FHERES BERT 1.32] 99.4| 101.4
EWEH [RERX 1.31] 92.0] o91.0|| EeseEp INEEEFRT 1.27| 109.8] 115.9| (LA Jut-JUEET 1.22 110.6[ 108.4
SV ET X 1.39 98.4| 103.2|| BkER HRRALFT 1.27 100.0| 106.4( LEES ZILmT 1.26] 105.7| 94.1
ST K 1.26| 102.0] 98.4|| REER EHAT 1.36) 109.7| 117.2|| [ILURER R ST 1.44| 110.0] 108.9
SV EH [EfX 1.37| 89.5 98.0|| REEL )11 BT 1.34] 114.1| 123.6|| EAEE —g 0T 1.43] 97.6] 115.7
SWEH |[ER 1.46| 95.8 101.7|| 'RERR LERT 1.27] 107.9] 113.7|| E4#E IR AT 1.29] 90.5[ 91.0
SV EN |FEX 1.55| 93.4] 96.9|| KEEF FEET 1.34] 107.3[ 101.2|| EAEE RN 1.26] 103.3] 107.5
SN EH AKX 1.24| 103.9] 102.1|| mEEFERF |=RET 1.40] 96.5| 99.1|| EAE#E H-HT 1.27] 109.1f 112.8
JIlgET 1.40( 99.1| 108.6|| ALEAGER 2 FHT 1.16] 100.2| 112.0|| EAEE RAAHT 1.31] 95.6] 85.6
R 1.36 109.7| 113.7|| ACEEFES [FARET 1.24] 107.0 108.7|| EAEE FrnT 1.26] 98.2| 111.7
Jio 1.43| 108.6| 106.2 EAGEH NE2-2i1) 1.35] 92.6] 87.8
1THTT 1.24| 110.7] 118.2||FZEE 1.36] 97.4| 100.9(| ZEFEER T T 1.28] 101.9] 105.6
FRAL T 1.47| 106.9] 109.7 g9 SERAAT 1.26] 109.3[ 106.2
Bk 1.35] 90.3| 95.4|| FEH 1.34] 96.1f 99.5
AREETT 1.24| 98.6] 101.0|| FEEH FR gL X 1.31] 108.4| 105.5([3REE 1.22| 97.9| 97.4
nZE 1.20| 107.0] 109.6|| TIEH R 1.30] 91.2] 99.4
RET 1.38| 107.4| 116.2|| FIEMW X 1.34] 91.3] 98.0|| FEAEIIXEL 1.19] 100.3] 98.2
NI 1.35| 99.8] 108.2|| TIEM HIEX 1.40 103.0] 99.6[] THRHEX 1.28] 87.9] 94.8
FEREH 1.29 102.2| 107.0|| T FEIX. 1.47] 94.1| 9e.2|| X 1.39] 91.2[ 98.6
;1N 1.29] 94.9] 103.3|| TEEFH EEX 1.24| 83.5| 95.3|[ X 1.39] 88.8] 91.2
P 1.27| 108.4| 111.9|| #kF 1.19] 119.8] 115.5|| #HEX 0.99] 103.4[ 96.2
BT 1.24] 95.6| 102.3|| THIITH 1.42| 86.3] 92.5|| tmK 1.12| 88.6] 92.3
RATH 1.40| 107.7] 112.3|| #niET 1.36] 95.8] 98.1|| EEK 1.16] 114.5] 101.6
FRH 1.38| 93.8] 106.5|| #EILT 1.52] 99.2| 98.8|] EHK 1.26] 112.6] 109.6
B 1.40 97.1| 105.9|| AKFEEH 1.51] 100.6| 104.7|| TEX 1.35| 108.6| 105.5
BT 1.39) 99.5 104.5|| mFH 1.37] 94.0] 95.5|| MK 1.17] 99.6[ 98.1
BRI 1.28| 110.8] 111.4|| ®mW™ 1.25| 105.1] 107.5|| BEX 1.00| 86.3] 86.3
bal::hil 1.58| 104.4| 100.8|| mEEH 1.34] 99.9 107.5|| KHEK 1.17| 103.9[ 103.3
Nihi .29 93.8] 94.9|| memT 1.38 103.5[ 101.1f| tHEAX 1.12| 82.1| 85.6
g 1.54) 93.9 101.9|| EATH 1.24] 94.3] 101.2|| WEX 1.05| 84.1| 88.8
AT 1.54) 97.0l 95.1|| H&TH 1.29] 105.0( 104.6|| TEFX 0.98] 98.7| 94.4
For 1.41| 94.71 96.4|| AT 1.50] 111.2] 109.9|| #X 1.01l 85.2] 88.2
FEETT 1.41| 95.8] 99.4|| BE®H .41 95.9] 96.4|| EEX 0.94 105.7| 102.6
@)1 1.34| 96.4| 102.5|| #ATH 1.31] 89.5] 93.5|| dEX 1.22| 107.2]| 103.4
NET 1.23] 98.5| 108.6|| M 1.26] 111.2 103.5| FIIX 1.27| 117.4] 104.9
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#HEtx WRETHBGEHSHREERE - FELETHE (12-5) HRH - AR - HBE - LR - 7R
N EY 3 ANZ 3 ANZ B
HIKETA %]‘7’; TEUEALFE L S — il (LT T b I T Ty
waEs| B s ezl B S ezl B =
G X 1.17] 102.0] 95.9|| #EEH FERX 1.41 87.2| 85.3|| EmME 1.48] 100.0] 100.6
TR X 1.21] 91.4] 92.3|| #aE™ AKX 1.42| 96.2] 100.5|| =& 1.43| 100.0] 102.1
JRvARS 1.37] 114.8] 110.6|| #Em™ FKIX 1.36] 86.5] 90.3|| #sTH 1.49] 102.2]| 104.5
X 1.40| 112.2| 107.7|| #EET RIX 1.43| 91.5| 88.5|| #EES 1.46] 109.3[ 101.7
LRI 1.41| 112.0| 108.7|| #&id FHEX 1.37] 76.2| s82.4|| /TS 1.47] 97.9[ 99.5
NEFH 1.22] 91.9] 97.0|| #EETH HFRHIX 1.52] 79.2] 82.0|| 1.28] 110.8] 112.2
Al 1.36) 99.4] 99.7|| I 1.38] 97.5] 93.7|| +RHETH 1.59] 96.9] 90.3
R BT 1.16| 85.1| 91.5|| JINEH X 1.38] 129.8 110.7|| REHTH 1.44 98.4] 104.9
ZEW 1.14| 88.7| 89.2|| JilgTH X 1.56| 105.7[ 97.2|| #F L7 1.51] 110.4| 101.8
HHgm 1.27] 101.4] 108.1|| JilgTH R 1.36] 96.8[ 98.7|| 1.43| 106.0[ 101.5
T .39 95.2| 95.4|| T X 1.37| 95.8] 96.4|| eI 1.56] 95.0 101.4
PR 1.39 103.5 103.9|| i ZEX 1.27] 89.8] 89.9|| W&t 1.56] 104.0[ 91.7
AT 1.28( 89.5 9L.7|| JINEHT ERIX 1.48| 83.3] 83.1|| HREH 1.34] 107.7| 105.1
BT H 1 1.23] 88.5| 86.6|| JIlEH FRAE X 1.33] 77.6| 79.5|| b 1.56] 99.3] 94.6
/e FET 1.27| 86.6| 92.5|| FEELFEH 1.30[ 94.3| 95.6( FIEBFH 1.31| 108.9[ 97.5
INEH 1.41 92.6] 95.2|| MEEH |[BX 1.33] 94.7| 100.4|| tE=ES 1.68] 105.4 107.0
B BH 1.39| s87.6| 92.2|| HMEE |hEX 1.33] 99.2| 100.0|| #ETH 1.50] 102.7 100.5
BRI 1.29] 101.7| 96.5|| fAEEET |[mEX .27 89.8] 89.0|| mEAET 1.52] 99.5| 97.1
E s 1.22] 84.8] 86.1|| #EET 1.35| 101.7| 106.0|| RGN 1.50] 104.2] 94.9
EEbAT 1.30] 90.9] 98.2|| FHEH 1.31] 96.6] 98.2|| AbiEEAER |EefERT 1.78] 112.1] 88.8
@AM 1.42| 102.7 100.3|| #EAT 1.26] 87.4| 9L of| VEFEEAED [IREAT 1.40| 101.8[ 104.5
JairT 1.24) 89.5 91.2|| BERM 1.44] 89.7| 94.3|| FEVEEED (B _ERT 1.25] 99.9[ 91.6
FAFAT 1.50 96.8] 98.6|| /INHIE 1.31| 102.0| 102.5|| HFEFEEL |FIERET 1.46] 105.2| 104.2
TEHET .29 95.9] 99.2|| T 1.38] 88.2| 94.5|| =BES HI EIFFRT 1.37] 102.8 117.5
USSP Si 1.35| 92.5] 92.7|| EFT 1.37] 90.2| 95.2|| FEAVEER [BRET 1.43] 102.8] 96.9
FEAT LT 1.42] 102.5] 111.9|| =i 1.19] 104.5( 101.3|| TFAERES |HEgHET 1.54] 89.3[ 81.0
ST 1.21] 87.6] 91.1|| =mH L3t 917l 962l MITIES ISP 1.51] 96.3] 99.6
it 1.49| s6.7| s6.1|| EATH 1.38] 97.3| 103.4|| EfES BAJI AT 1.47| 99.2[ 98.8
BRY S 1.44] 96.9] 110.9|| KFnrH 1.46] 98.9] 100.1|| EER BT 1.40] 99.8] 97.9
HEDHHH 1.44] 99.2| 113.6|| FEBVET 1.38] 89.8[ 91.8
WA 1.25| 91.7| 89.0|| #EELTH 1.43] 89.4| 93.8||B LK 1.49| 101.4| 96.5
P EEER  |FREERT 1.31| 109.5( 110.7|| FERH 1.32] 103.4| 102.6
TELEER | H OHET 1.59| 120.2| 121.8|| FERMETH 1.36] 93.7| 102.5|| ®mLH 1.50] 100.9[ 96.7
[EE2=S - f ) 1.30| 123.5| 117.4|| #&wET 1.46| 102.6| 103.4|| =T 1.49] 100.3[ 97.6
FILEEED | EEAT 1.16| 154.3| 140.4|| =m#Ep HE LT 1.37| 86.3| 92.4|| 1.47| 105.8[ 98.3
KEET 1.52| 109.1] 111.5|| ®EEEER 22 I|ET 1.45| 98.2] 100.4|| kA 1.41| 104.8] 100.5
F EHT 1.26] 91.5| 94.7|| EF KEEET 1.31] 90.9( 9s.9|| @I 1.55| 103.8] 99.3
e 1.32] 97.1| 101.6|| “HER ZEET 1.22] 90.2] 96.8|| BEwTH 1.54 102.0] 94.5
T BT 1.54 109.3| 105.4(| RFELEER |HFET 1.14| 98.7| s7.8|| #HEEH 1.54] 97.8[ 90.8
=R 1.33| 117.9| 102.3|| RAFELEES |KFHET .30 97.0[ 9s.0ff /NFEEH 1.43] 98.2[ 91.3
ST 1.32] 96.7| 94.8|| RMEET |[fAEET 1.29] 102.4| 105.7|| FEERT 1.50] 95.7] 91.1
J\SLHT 1.61 130.0 111.0|| RMEEE |LdkET 27| 99.0 115.1|| AT 1.53[ 103.6[ 99.4
H o BT 1.19 102.6] 98.1|| R EES |BERRET 1.54| 87.5| 82.5|| dE)UERE |FHEAT 1.51] 98.0] 95.2
AN TR 1.33] 86.0| 88.9|| RFITHEE |FEARET 1.13] 104.3 108.9|| F#)IER | EHET 1.40| 104.2| 100.8
B TES |[EEBAET 1.31| 110.4| 110.9|| HFIES |SZILET 1.36] 104.7] 95.3
Fer=J-8 1.36| 95.2 97.0| BATES |EiTEET 1.20[ 109.8| 100.3|| TF#ETIER | AEET 1.41| 102.0[ 95.8
AR =) 1[ET 1.36] 107.2| 117.9|| TEIER [FARET 1.47] 105.1] 99.4
IR 1.35] 94.3[ 96.3|[ EHEL AT 1.31] 86.9] 87.5
R BRI 1.49| 107.6| 108.5 =) 1.53| 98.6] 98.2
R HRZS) X 1.28] 98.7 101.0|[BrmE 1.43| 100.9| 98.2
R X 1.21] 105.6] 109.2 AR 1.44] 96.4] 96.7
TR X 1.26| 128.9] 109.7|| #FrET 1.34] 97.4] 94.1|| ERH 1.52| 102.3] 105.1
R HIX 1.16[ 111.8[ 112.9(| Hrigm X 1.32] 101.8[ 99.5|| /AT 1.69] 93.3[ 99.3
R BRErBvx 1.25| 96.6] 97.8|| #ET X 1.43] 102.6| 101.4|| @B 1.68] 108.6 103.1
R et X 1.38] 96.5| 97.8|| #HEH X .27 94.4| 92.2|| ERwH 1.83] 109.8[ 98.9
R EIRX 1.24] 90.9] 98.2|| #EEH TLEEX 1.45| 101.4| s87.0|| fnE 1.48| 102.8 105.2
TR #ALX 1.40| 86.9 96.2|| #FET FKEEX 1.35] 96.5] 94.7|| FIvETH 1.59] 97.1] 95.1
T FEX 1.41| s88.7| 94 1|| #hETH X 1.44] 98.0[ 94.0l| »vE<TH 1.62] 98.1| 95.4
R IETT B X 1.27| 91.6] 97.8|| #FET [iE]ES 1.35) 92.1 90.7|| @l 1.53] 95.8] 96.5
R JBIX .31 934 92.4|| #m® T 7/ X 1.30[ 102.3] 97.8|| #EETH 1.67] 93.6] 95.9
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etk WRETHA S HERHAER - BEEECTH 12-6)

AR - BHE - LR - EHR - KRR

A2

A2

N EY 3 3 ¥
— %;; EEIET b e BTA gi | merc T gi | mEse
x| 5 & waEE| B X wAEE| B &
B T 1.81] 88.0| s1.9|[EEE 1.57| 90.5| 93.8|| HHEEER |BREAT 1.55] 92.5| 102.6
REZEED JIHCET 1.68] 97.0] 92.1 FHERD | AR 1.55| 93.4] 87.0
TATALER FEEIER] 1.53] 97.9] 101.2|| EBEH 1.56| 87.6| 91.8|| HIEERER |ILFEA 1.57] 92.6| 98.8
P ALER PREERT 1.32| 100.9] 96.4|| kAT 1.56] 88.9] 90.9|| BEHEEERL |EARAT 1.49] 89.6] 92.5
SPIVERTD R T 1.70| 104.7] 95.3|| LbHET 155 90.7| 99.1|| EEHUEEET |HUALAT 1.52| 89.8] 85.4
JIWEET FEE KT 1.49( 101.3] 98.7|| MATH 1.59| 91.5] 96.4|| ALEZEEE [HLEET 1.50] 88.1] 99.0
B B ER HHRERRET 1.83| 102.3] 102.8|| #RHETH 1.76| 89.3] 90.0|| Ab&EER |RIAT 1.49] 87.7[ 83.9
JE\ERER FKHT 1.46| 104.7| 100.9|| =wEHTH 1.69] 88.8] 90.5|| db=EET |AEAT 1.46] 86.9] 97.3
JB\ERER AEERET 1.67| 110.6] 103.0|| ZEIKT L.51| 93.6] 97.7|| dbZ=ZEL /AT 1.59] 86.7| 94.7
JNEETT 1.60[ 93.4| 90.6| HEFIES PHRET 1.45 93.1| 105.0
BHRER 1.61| 96.2| 96.7|| GHRTH 1.66| 89.0[ 94.4|| L@EFAFES |IMAEHERT .51 93.3] 98.3
B9 o AR T 1.65| 92.3] 96.3|| E®EAEL |EILA 1.45] 90.2[ 90.0
f&@F 1.65| 91.8] 91.9|| HETH 1.60[ 94.3] 98.7|| TF&FHES | AT 1.44] 90.5] 99.0
BT 1.75| 94.6] 99.0|| KHETH .47 90.2] 93.7|| TFEHE | ARBFA 1.60] 97.3] 110.1
/T 1.70[ 101.9| 109.4|| #RWTH 1.50] 93.3| 9L9|| TEHE [FRIBRA 1.60] 93.8 101.4
KEFH 1.58] 102.5| 98.6|| FEH 1.63| 85.0] 9L.7|| LKMER |{SuEET 1.42] 93.5| 97.4
i 1.52| 99.6| 95.8|| HRH 1.65| 85.3| 92.4(| EAkmMER [NIAF 1.57] 89.3[ 90.7
e ranntl 1.63] 91.4] 89.6|| AT 1.58] 90.4| 88.5|| LKNER |BRARET 1.43] 96.5| 98.2
Hb 5T 1.39| 101.6] 96.6|| THhTT 1.45] 91.5| 91.7|| TKMNEL |HAF 1.61] 88.9] 101.8
AT 1.61| 96.0] 97.9|| M 1.55| 91.5] 97.2
WH™ 1.56| 95.1| 101.3|| Z%E&¥TFH 1.52] 94.4 94.2|BRIR 1.52| 99.5| 102.5
ZHER TR SESFHT 1.34] 96.6| 101.0|| FEEAEL |/NERT 1.49] 86.9] 93.6
4 SLER b, FH T 1.58] 94.3| 94.8|| mEEAEL |IIER .70 87.1| 90.7|| IEES 1.49] 100.5( 103.9
FASAD RGOk 1.63| 105.5( 90.7|| FEEAES |mEdA 1.54] 95.1| 95.7|| KES 1.55| 100.4| 109.6
FHERD ERITAT 1.53] 102.0| 104.7|| FEEAES |FEMEAAS 1.60] 90.6] 90.1|| &L 1.65 100.3| 103.4
ZHER E<yiiy 1.70| 102.8| 111.0|| mEEARR |dLABAKT .57 89.7| 97.3|| ZwmRT 1.37] 95.6] 97.2
KERED e T 1.79] 102.4| 98.0|| mEEARL |{EAFEET 1.55| 98.6] 92.3|| BIH 1.46] 95.1] 97.9
KEER BRET 1.95| 100.7| 98.4| AcHEAES  [EEHRET 1.50| 91.5] 95.6|| HEITH 1.66] 98.8] 98.0
=77 EHER (AT 1.62] 98.8] 95.3|| dbfEAER |EMCHET 1.58] 86.8] 97.6|| L 1.46] 102.2| 104.4
e AES | SLFHET 1.41] 89.4| 101.8|| EFRr 1.50| 102.8] 96.3
ILBLIR 1.49| 96.4| 97.4|[ /NEER HARK 1.55| 94.1 98.7|| FEH 1.44| 100.5[ 111.0
ANC SN RFnHET 1.54] 92.8] 94.5|| IR 1.50] 101.9] 98.1
FRFI 1.51] 96.4] 95.8|| EWEHER TERESET 1.53] 91.3| o4.1f| EwEns 1.65| 94.6| 88.7
BrEAT .59 97.7| 99.5|| HER &+ BT 1.52| 86.0] 90.5|| 1.42| 106.1| 111.0
BT 1.44] 96.9] 98.6|| =WEHER JEkF 1.61] 87.6| 90.9|| BHESE 1.59] 97.3| 105.6
(AL 1.39] 96.7| 98.5|| _EOHARER |REFET 1.48] 93.7| 96.6|| TR 1.57| 89.4] 96.7
KA 1.19] 98.1| 98.4|| _EGHARER  |ZEdmET 1.62] 90.6] 99.0|| (g 1.41] 98.6] 103.4
ST 1.39] 97.5| 98.6|| _EGHARER [BREET 1.56] 93.6| 91.9|| FefE 1.72] 95.4| 107.6
M7 AT A 1.46] 98.2] 99.9(| _EGHHRER |FEEEEmAT .76 91.3] 87.0|| FReBH 161l 97.7[ 101.6
etk 1.35) 93.6] 97.8|| LEHES |HIF 1.59] 89.7| 86.7|| AEAFH 1.39] 97.2] 101.0
e 1.69| 94.8] 95.3|| _EGHARER B HEA 1.65| 89.8| s81.7|| #E 1.75] 93.6| 95.8
LN 1.55| 92.1| 94.7|| TOHAREL  [#2JIET 1.62] 89.0] 94.6|| TEH 1.64] 96.7] 91.6
= 0 1.16| 91.4] 94.8|| THEIES |EARET 1.60] 89.1| 89.5|| T 1.23] 108.4] 112.9
RN T 1.38] 97.7| 100.6|| TEHAREE |FTREEET .51 94.3] 95.6| WWEE et 7 T 1.72] 100.2| 101.8
ey 1.43] 90.0| 99.6|| TOHAREL |FTEA .71 93.9] 86.3|| FEEL SERART 1.65| 98.6| 100.8
FE)\ER |1 = ABET 1.36] 104.9] 98.2|| THHAREL |Eokt 1.59] 89.6] 91.8|| #=EEL FENT 1.29] 115.6 115.9
FEERD | F)IRT 1.44| 102.7| 100.6|| TEHARER (AR 1.59] 87.9| 93.8|| REEES FEHHT 1.42| 94.1] 97.9
FAEEER | S AERT 1.33| 105.2( 97.4|| THEHE | T 1.62] 89.9 99.4| TFEEES B8 J T 1.35] 100.7 104.5
FIEEERD (AT 1.38) 99.6| 97.0|| TFEAER |FEAN 1.56] 92.2| 98|l ZN\ES A EET 1.47] 102.4| 105.0
MEEER  |EL)IET 1.35| 105.0] 98.1|| THEAREF |REER 1.59] 90.9| 97.9|| Z=N\E Higy 2 AT 1.63] 101.7| 97.7
REEERS  (BRFNET 1.78] 84.5| 96.5|| THAET |REA 1.57| 93.5 103.6|| Z/\ES 7z J\HT 1.51] 99.9] 106.1
FEVEEER  EEAT 1.52| 100.8] 99.6|| THHAREL |&EAKM 1.68] 91.9 100.5|| #EIEER 21| BT 1.45| 112.4| 112.3
FEERREER  [FEEERT 1.41 97.3] 97.1|| THAHE |EEA 1.57] 90.0| 98.5|| #EHIEE KEFHT 1.39] 99.9] 105.7
FAHNEER | BT 2.06] 98.9 99.4|| THEIES | KEH 1.60| 94.4 91.8|| #EERE i FR T 1.43] 98.6 100.7
FAELEEER | AT 1.59| 98.5] 94.4|| AHER raET 1.58] 96.4| 107.1|| AHER e HHT 1.53] 102.6] 101.2
FAETEEER  |IRIRAT 1.59] 97.7] 98.9|| K@ A EHT 1.55| 94.2| 94.0l| InEES ST 1.66] 95.6| 100.9
FIENREER (B owiEr | 1.73] 95.1 93.0|| KEHER ARAEFS 1.55| 93.1| 103.5|| nEER =yl 1.52] 96.3] 91.4
ALEBEEAR  [IVER 1.46| 92.9] 95.4|| AEER EER 1.52] 90.3| 94.9|| fnrEEs JIZ BT 1.54] 98.1] 99.8
ACEREEAR | FHE LA 1.50[ 95.7[ 98.1f| A=EP KEFT 1.58] 89.3[ s9.0|| AnmeER HRAT 1.48| 104.0 103.6
AREED REGHT 1.55 100.8| 102.0[ AnsEES UNER-i) 1.56| 107.4| 109.8
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#HiEtx WRETHBGEHSHREERE - FELEETHE (12-7) EEE - BEAE - B - =EE - ¥EE
N EY 3 ANZ 3 ANZ B
HIKETA %]‘7’; TEUEALFE L S — il (LT T b I T Ty
waEs| B s ezl B S ezl B =
YIGE =)1l:g 1.55) 99.4 95.9|[BenB 1.55| 98.8| 102.9|| VEEE KIgHT 1.85| 102.4| 105.2
SNFEER AR 1.56) 99.8] 102.8 HEERER BEITHT 1.48| 102.9 102.7
Al RER =T 1.47| 103.2| 108.1|| & &HEM 1.41| 102.8] 102.8|| #FERED FEEAT 1.56] 99.9] 107.7
KEFAR =ML 1.67| 101.5| 105.8|| &EEM [|THEHKX 1.28] 92.8] 98.1|| #%EE Ba[ A L BT .77 91.4] 97.0
LEEm | HK 1.18| 96.4| 103.7|| “nZES BT 1.53] 90.3| 104.8
#ER 1.54| 98.7| 99.6|| 4EHEF [dX 1.42| 106.6| 102.6|| *n%ER [EEuEZi) 1.36] 108.0] 109.0
AEEN (X 1.38] 106.5( 107.9|| %0ZES E=¥idiy 1.27| 102.3] 100.2
FRRA T 1.44| 100.4| 100.0|| 4&HEM |[FHEK 1.30| 116.0 111.5|| %0Z%Es AT 1.58 105.0] 99.6
FrfA T ZEX 1.40| 96.7| 97.8|| 4HEW |[FK 1.04| 101.6| 96.3|| %EEE SZHHET 1.76| 89.2| 100.1
FRi T B [X 1.50) 98.4| 100.2|| &HEF |BEMX 1.28] 92.5 100.1f| AdEF%EER [FRRET 1.44] 92.5| 97.1
FRAE T TEKX 1.44| 105.8] 102.1|| &HEH |[FEX 1.39] 101.2| 103.9f dEF%EER [sEoEET 1.49| 104.4| 104.6
AT 1.59] 92.3] 94.6|| #HEH [BEHKX 1.32 104.5] 104.1|| AF%ER [BARFS 1.58] 100.8] 100.5
AT X 1.54) 96.9| 102.3|| &EEM [FIKX 1.51| 110.1| 108.8
AT HX 1.72] 90.3] 88.8|| 4HEM |[HEXK 1.35| 111.6 110.7([=ER 1.52| 100.4| 103.4
AT X 1.60| 93.3] 9L.9|| 4HEH [EK 1.42] 113.0[ 106.7
AT X 1.58] 94.4| 98.9|| 4EHEW |FLUK 1.66[ 101.7| 100.3|[ 1.48] 98.2| 100.4
AT X .53 911 94.5|| &EHEH |BX 1.64) 94.0[ 97.3|| mWABHER 1.53] 102.3[ 110.1
RN T EALX 1.63| 84.7| 91.8|| &#HEW [4EK 1.43] 91.5| 93.4|| @& 1. 44| 100.2| 105.2
AT REX 1.28] 93.6] 90.8|| #4HEW |[KAK 1.50| 94.9] 96.5|| #APRTT 1.55] 99.3] 106.2
BT 1.41| 108.4| 103.6|| EiE™ 1.60] 98.6 103.3|| FE&H 1.53] 97.1] 106.1
g 1.22 109.3[ 109.7|| MW 1.66| 92.5| 97.5|| #hEET 1.58] 96.2 104.1
=&Em 1.49| 101.3] 106.3|| —&H 1.50| 101.3| 103.1|| 43EMS 1.48] 96.4 102.7
BELEm 1.54| 102.9] 98.9|| WEFTH 1.34] 99.5( 103.1|| RES 1.57| 114.7] 120.2
P 1.47] 108.8] 105.1|| kmHH 1.50| 104.2| 108.8|| ALt 1.59] 101.9] 103.0
BHTH 1.50] 96.3| 96.2|| FERHH 1.67] 95.6] 98.0|| BFH 1.49] 108.6] 99.4
ERnin 1.58| 101.3| 101.8|| &Il 1.66] 101.2| 105.9|| AE®FTH 1.64] 106.9] 107.9
BT 1.58| 91.6] 99.5|| HET 1.29] 99.5 1014 v~ 1.46] 101.3] 104.4
BT 1.41] 100.9]| 106.4|| =zZEEETH 1.57| 101.4| 105.4|| EES 1.47| 107.5 106.7
BI 1.64] 92.7| 95.6|| xI&H 1.80| 96.0] 100.9|| BEH 1.52] 104.9] 100.6
FRAE T 1.49] 91.5| 99.4|| BBmH 1.65| 91.5( 103.0|| F4&ZES o= iy 1.36] 98.8] 89.2
TR 1.75] 96.3] 91.5|| ZeskH 1.75] 95.6 102.3|| BEFER RERT 1.42| 94.6] 94.7
Epi ] 1.76] 103.5] 99.3|| FEREH 1.58] 101.7| 110.6|| =EEER IREFET 1.56| 102.8 101.7
TR 1.56| 110.0] 109.0|| vE#ERT 1.40| 102.6| 106.2|| =EmEEB & B BT 1.64] 93.6] 95.6
TEEFTH .73 94.6| 101.8|| K 1.36| 95.3 104.2|| ==EES JIl AT 1.73] 107.1| 104.6
HAPE T 1.52] 91.1] 100.0|| #iETH 1.46| 101.2| 105.9|| Z&E ES LI 1.47] 101.0[ 98.4
FE 1.33| 100.8] 99.3|| iTEET 1.45| 101.4] 109.1|| %%E AR FOHT 1.61] 90.4] 90.6
TENRITIRY T 1.73] 102.0] 98.4|| /N 1.58] 98.6| 104.4|| ZXER N=1i] 1.52] 93.8] 101.7
Z5)11H 1.67| 98.7| 100.0|| FERTH 1.53] 97.0] 107.0|| E£E AT 1.59] 95.5[ 90.7
FooEH 1.43 103.8| 96.9|| #ro .39 92.3] 97.0|| EELE FE BT 1.51] 96.9] 101.1
Lord ] 1.52| 101.2]| 101.5|| sE#ETH 1.86] 97.1] 102.3|| E£E KACHT 1.43] 96.7] 99.5
B ERR HFEHT 1.42| 111.4| 107.2|| HKm¥e 1.93] 90.6| 97.2|| ELE [E2fCie21ag 1.54] 104.6[ 99.9
BERR {AT LT 1.67] 99.1| 105.3|| ZnzxH 1.49] 96.8| 105.2|| AbZEL  |foALET 1.60] 108.3[ 96.0
EIRED R 1.58| 103.6] 105.0|| %03z 1.72] 93.4 102.9(| FERERER |HEEET 1.58] 103.5| 99.5
EEER TN IEFET 1.55| 109.5| 107.9|| RsEMETH 1.50| 86.6| 95.3|| mIREEL |fCEHET 1.66] 102.4] 97.3
ERER [egasing 1.43| 108.8]| 106.4|| =& 1.66| 105.8| 108.2
H 5B PR AT 1.53]  99.4| 103.0|| HATH 1.66] 103.8| 112.1||%&HE KR 1.58] 93.5| 96.5
BEHER TE/KET 1.62| 98.5] 96.4|| AT 1.52] 92.6] 94.1
BEHAR RIRAT 1.80] 99.3] 99.7|| B#EH 1.85| 86.4| 90.5|| K .51 91.9] 94.7
ER AT JINLLET 1.55| 108.6| 100.8|| mIEH 1.64] 98.3 102.8|| iR 1.57| 91.8] 96.3
HRIRED = HET 1.57| 102.1] 95.9|| EWET 1.25| 100.8 110.7|| R 1.58] 97.7] 99.1
BEIEER JIARAHT 1.42] 92.2| 93.8|| WwAET 1.72 100.9] 105.4|| T /\nEHT 1.65] 93.3[ 97.1
JEEER FRET .39 97.1 95.5|| dsEHES 1.80[ 98.5 105.0|| e 1.45] 86.0[ 93.0
YRE T 1.50] 99.2| 104.5|| =Pt 1.71] 88.3] 93.8
AL L 1.80| 87.2| 105.7|| EEEH 2.02] 92.5 100.6
bHEH 1.61] 101.8 109.0|| & 1.48] 95.3| 97.6
RBAFH .67 92.9] 95.9|| EPMTE 1.62] 95.5] 99.2
EHRIER FURET 1.62] 88.7| 99.1|| WARET 1.58] 94.7| 96.0
Va5 B HED | & LaT 1.70 107.3| 106.2|| @B 1.39] 92.8] 94.0
FHPIER KO ET 1.80 94.2| 99.9|| FEITTH 1.61] 95.9] 95.6
FEPIER FRELHT 1.62] 90.9 100.8|| KEH .57 99.0] 98.8
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etk WRETHA S HRHER - BEEECTH 12-3)

HER - TEATF - KWRATF - RER

N EY 3 ANZ 3 ANZ B
HIKETA %);i; TEUEALFE L S — il (LT T b I 43;;; Ty
waEs| B s ezl B S ezl B =
THEAEED A BFHT 1.51] 93.1] 9s8.0|| KPrH AKX 1.21] 111.3| 108.4| FFETNER  [KTFET 1.35] 96.5| 96.4
THAEED EoEsliy 1.48] 96.1] 97.8|| KbrRTH AEBHX 119 114.3| 100.9|| FEWAER |FRERIET 1.09] 94.5 105.7
EENED SRR .82 99.1 97.1|| KRBT JEX 1.28| 112.6| 106.8|| FERINER |FEARBRAT 1.22] 93.1] 103.0
K_EER EIRET .57 96.3| 95.7|| KRR SRR IX 1.38] 112.1f 108.1
K_EER FH R HT 1.53[ 100.7| 101.7|| KBz R {5 B [X. 1.31] 101.8| 102.7||ERER 1.47| 98.9| 100.3
K_EEL EZ- Ui .61 95.7] 97.1|| KPR FEEX 1.38] 107.7] 98.0
KB HAEFX 1.40] 121.7] 108.9|| ®FH 1.36] 98.4] 100.3
R 1.32| 95.3[ 97.1f| KBz A X 1.22| 189.5 132.0|| #FH BRI 1.46] 86.3| 94.1
KB ENX 1.21| 107.9] 104.8|| #FTH X 1.35] 92.4] 97.1
FAT .22 95.5| 96.1|| KB BRKX 1.70| 109.8| 110.5|| #FETH X 1.36] 121.7| 114.5
FAN T ex .21 91.4| 94.4|| KB FEZITX 1.31] 115.8| 104.6|| wF EHK 1.30] 122.4| 114.8
FUER T ERK 0.95] 95.2] 9s8.0|| KBkl FEFX 1.50| 124.4] 115.4|| #FH ZEBEX 1.36] 96.3| 95.7
FERT ERX 1.21] 87.7] 90.8|| KBrTH X 1.04| 103.3] 101.2|| #FH KK 1.56] 98.8] 99.9
HERT FRK 1.03[ 93.4] 97.7|| KPR X 0.97| 101.9| 105.2|| #FH X 1.35] 93.9] 97.4
it WX 0.93] 98.4| 103.8|| i 1.50| 104.6| 102.8|| AT X 1.11] 101.2| 102.6
FAT T THRX 0.89] 104.6| 106.2|| B 1.36 114.6| 106.8|| #FH X 1.33] 91.5] 97.1
FAT T X 1.45| 110.3| 113.3|| ;e X 1.61| 108.2 103.0| HEE&TH 1.58| 108.5 106.5
FATT HRX .27 93.1] 90.2|| #F X 1.47] 101.9( 98.8|| Rl&TH 1.51] 110.6| 108.4
TRERT RAEX 1.35| 102.9] 99.5|| #RwHE [E]ES 1.55| 106.9] 107.3|| BAAETW 1.58] 100.2]| 102.9
TRART AR 1.33| 91.5] 84.9|| AT FA X 1.28] 96.9| 9e.1|| TEET 1.47] 90.9] 94.3
FAR T FERX 1.49] 88.1| 9s8.1|| Ex 1.65] 99.9 105.5|| wHAT 1.52] 103.2 107.1
@aEnl 2.02| 101.8] 101.5|| #id EFX 1.37] 102.4) 97.7|| AEBH 1.34] 83.8[ 91.7
BT 1.90| 103.6| 100.7|| jEFnHETH 1.53 111.4| 112.8|| GHHH 1.58]  95.2 100.2
FEERT 1.62] 98.8] 98.0| &b 1.53] 96.5] 96.2|| #EAETH 1.66] 100.9] 99.1
FiaT 1.40| 91.9] 101.0|| wuETH 1.39] 85.8| 910 &M 1.74] 100.2] 99.6
T 1.54] 98.6| 102.8|| mkHET 1.45| 87.3] 91.1|| )i 1.53] 101.2| 106.5
EArni 1.35| 91.8] 101.1|| HoAEET 1.50| 105.8| 104.3|| FREET 1.45| 101.3[ 98.6
g 1.33] 94.1] 99.0|| =EmH 1.42] 94.1| 95.8|| T 1.62] 103.5[ 99.3
18 B T 1.56] 89.3] 94.5|| B#EH 1.48| 111.0] 110.9|| =&HH 1.47| 86.0] 91.1
FRm 1.48| 86.8] 93.8|| sFATH 1.40| 107.7| 106.0|| =kt 1.39] 91.2] 92.4
AN 1.37| 92.0] 95.5|| #HTH 1.38] 90.8] 91.7|| mwEbTHE 1.44| 108.4| 109.7
FHEBT 1.41| 91.9] 98.0|| FAH 1.51] 90.7( 93.2|| JumETH 1.37] 83.2[ 90.0
TP 1.86| 101.4| s9.6|| NET 1.44| 106.9 105.7|| /NEFTH 1.56[ 96.1| 102.1
[Epanit] 1.43 100.1| 97.8|| HwiEEFH 1.31| 112.4| 110.0|| =MHTH 1.29] 87.0[ 90.5
AT 1.50] 88.0| 94.6|| EHH#H 1.26] 100.0| 106.7|| fnvETH 1.46] 95.9] 98.0
ZAIER K ILIFFET 1.65| 92.3] 9s8.6|| BRI 1.47] 100.7| 106.4|| #LH 1.55| 98.9] 98.0
SRR I LI ET 1.54] 94.2| 97.5|| WHNEFH 1.24] 89.0] 97.3|| #ERTH 1.60| 102.0] 101.6
TR EER FEFHT 1.27] 103.4] 97.0|| MEH 1.34] 108.4| 111.2|| S 1.70] 97.2[ 96.8
TREAD A HRET 1.35| 95.4| 108.1|| KEEH 1.40| 105.6| 110.6|| FMEHPUH 1.76] 99.4] 100.0
FHEEER A BT 1.15| 98.4| 102.3|| FngEw 1.39] 102.9| 106.3|| @Ak 1.77] 98.6] 103.1
FERED FOEHET 1.16| 102.6] 103.8|| ZEmH 1.47| 81.4| s4.6|| weps 1.57| 102.9] 96.7
RS FETER] 1.42] 89.9] 91.7|| tAET 1.33 102.3 107.5|| == 1.56] 110.3| 108.5
B SH A LA .20 99.1| 111.9|| PHEETH 1.32| 99.3] 102.6|| AHnsETE 1.62] 94.6] 93.6
ARFEER T ET 1.41| 94.8] 97.5|| FHET 1.37| 120.6] 115.1|| 7=—>ow 1.47| 110.6] 109.4
5#HHER FHRAT 1.57] 100.7| 101.9|| #EuEH 1.57| 106.4]| 103.9|| JIZER 84 ) 10T 1.12] 86.9[ 83.9
AL 53t ErET 1.73| 97.6] 99.4|| EHETH 1.58| 106.1]| 110.2|| Z7rER EZLIl 1.39] 95.5] 95.5
FRHAFETH 1.36| 98.1| 100.5[ HndrES VEEST g 1.41] 102.4| 109.5
KERAF 1.37| 105.9| 103.6|| H KK 1.36] 107.3| 109.6|[ I0EES FEEERT 1.55 104.4| 107.8
SR 1.53| 109.8( 105.4|[ #HIEFES i) IET 1.38] 100.4| 109.4
PN 1.25) 119.9] 108.1|| pufgEET 1.43| 106.2| 102.5| HhEES & IR HT 1.57] 98.3| 97.4
KR X 1.23| 113.7 104.0|| zZEEFH 1.42| 90.6| 102. 1 HpiEER fef AT T 1.34] 98.1] 90.8
KB BEX 1.19| 105.3[ 112.5|| KBRFELH 1.40| 89.8| 88.2|| #ERER KT 1.60] 97.1| 100.9
KB FEAEX 1.54| 119.1] 116.8|| PrRmd™H 1.24] 102.2| 106.6|| HREEER ERET 1.35] 98.0] 101.2
KR FEX 1.12| 106.8]| 102.4|| =B#F SAET 1.52| 96.3] 100.7|| 1E=HER 1= T 1.49 102.7] 94.0
KR WX 1.20| 123.2]| 107.3|| EEEEF B 0.84| 77.7| 96.5|| ZEFHEB AT 1.70] 107.3[ 98.2
PN KIEX 1.35| 131.1] 113.7|| &R REELAET 1.14| 110.1| 119.9|| ZEFHHE FriR R AT 1.55| 102.4| 89.2
PN RKEFX 1.29] 96.5] 97.8|| RALER TR T 1.44] 113.6] 98.8
KB TRHX 0.92| 141.5 119.7|| REIER REHHET 1.33] 96.0] 98.2
PN BEE) X 1.42| 123.3] 112.7|| REEP A ET 1.38] 102.1] 109.8
KB HE) X 1.17| 116.0] 104.1|| REER W T 1. 14| 105.3] 110.0
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itk WRETHRISEHISHREEE - BEEETH 12—9) ZRE -MPUR - RHE - BRE - RLUE - EBR
AINZ 3 ANz 3 ANZ D
I %;; EEIET b e BTA gi | merc T %;; TERAL T b
wEE| B LS x| B X x| B #
ERR 1.34| 95.1 98.9|| BEEL S 1.57] 108.0| 109. 0f|m (L& 1.54| 97.8] 95.9
A= ED A=A 1.68] 105.0] 97.5
ERM 1.28] 89.0l 93.0|| HEES R AT 1.45| 111.3]| 118.5|| &L 1.48] 94.9] 93.7
KFnw H 1.21] 107.8] 112.3|| BE&E#ER FIIRGHT 1.54| 111.2( 119.7|| RS X 1.39] 93.8] 94.1
KFNER LT 1.35| 96.5| 96.8|| BEAR Ix 7T 1.56] 106.6| 114.0|| LT HX 1.60| 94.1] 92.6
KR 1.42| 96.4] 99.5|| BEED =r=ylilg 1.56 105.3 109.7|| MW X 1.44] 96.6] 95.6
Lz 1.39| 94.4| 100.7|| PEAREES |HEAT 1.50] 109.6] 99.9|| B WL X 1.60] 97.3] 93.5
T 1.36 104.1| 108.9|| VEZREES |LEHET 1.66| 110.4| 108.8|| E&#H 1.68] 95.4] 94.3
ER 31 1.27] 107.1] 102.9|| VEERERR |F S AHET 1.48| 110.8( 97.3|| LT 1.64] 105.0[ 100.0
T 1.16| 108.0| 104.9|| BEAEET IR BRET 1.64 111.3] 102.0|| E®FH 1.44] 97.8] 100.1
BT 1.35| 85.8] 95.2|| AERL [KihET 1.52 109.6| 114.8|| “&mH 1.38] 97.9| 94.4
FE 1.64| 87.0| 93.5|| EAEERL |HE)IET 1.51| 105.5 103.6|| FEH 1.33] 104.3[ 98.1
BT 1.51] 96.5| 101.9|| FEARZERL |dbiLAr 1.53] 109.0] 101.7|| #aftm 1.55| 94.0] 98.1
Fhe 1.13| 102.8| 102.7|| HEEES |EBARET 1.68| 106.6 110.0|| 1.51] 94.8] 94.5
(LD ER LA 1.27 115.2| 105.6 -zl 1.58] 98.3| 93.2
AEERER ERERT 1.15| 87.0| 101.9|[&HE 1.61| 103.2| 95.3(| fHwEiTH 1.45| 107.6| 104.8
FEERR ZHRHT 1.42| 95.4] 92.8 WEA T 1.37] 100.0] 95.5
A EDER BERGHT 1.47] 92.3] 100.4|| BEH 1.55| 101.3| 95.0|| ke 1.58] 97.2] 99.4
A EDER AT 1.24| 110.4] 100.2|| kFH 1.69] 99.1| 93.5|| HEpEET 1.75] 99.6] 94.6
TRIED JIPEET 1.39| 96.3] 104.6|| AFTW 1.66] 104.7] 90.7|| ZEfETH 1.62| 101.2] 98.2
BRIRED =T 1.28] 96.5| 97.8|| LEHTH 1.62| 109.6] 99.0|| ®oTH 1.33] 98.9] 102.3
FRIRED FH AR HT 1.45| 92.2| 97.2|| ‘AEER S SEHT 1.53] 104.8] 97.0|| FOXKES FosET 1.36] 100.3[ 89.5
FFERR HWAT .28 98.3| 97.7|| NEEER EREET 1.55 106.3| 100.4|| #ZEE R ERT 1.69] 96.0[ 94.7
FFEAR FEVRT 1.25( 101.1] 90.5|| J\EHER S GEAT 1.55| 107.5] 95.4|| ®wOER B ERT 1.61] 94.9] 92.8
E AR 2 IUET .22 94.1| 94.0|| NEEER J\BERT 1.48| 107.8| 100.2|| /NEHES RAHET 1.47] 96.7| 96.5
ETET A B EFAS 1.18| 97.5| 104.8|| H{AER ZHfRT 1.68 103.9] 94.8|| EpEEP FFEAT 1.54| 97.8] 96.2
eEs AR | R 1.16] 90.7| 101.5|| Z{hER BB mT 1.82 109.6] 97.2|| EHEE SEIFHT 1.73] 108.1| 104.3
JLBIRER | ESFAT 1.59) 90.2| 100.7|| BIAER ZEJHAT 1.69] 105.7| 100.4|| BEEES ¥ S BT 1.68] 97.4] 95.1
CEES | IRBERT 1.45| 91.5| 96.3|| ={aED JeselT 1.63] 104.9] 95.8|| EEHEER IR 1.84| 101.4| 95.4
ALEEWES  [fTAET 1.14| 90.6] 96.2|| TEIEES A &R 1.71] 102.2[ 90.5|| EMES PR AT 1.54] 99.1] 96.8
HEER HEFET 1.11] 113.5] 104.5|| PE{4ER KILET 1.56] 107.5] 97.4|| &KER I KA RT .52 99.7] 95.2
HEED KIERT 1.09 107.6] 104.0|| VE{HER FAERET 1.50] 103.5( 99.7|| ACKER FEWLHT 1.61| 108.7] 97.5
HIFER T 1.07| 113.1| 109.4|| TE{EER {HEHT 1.57| 97.9] 85.0|| IEER i o YT 1.56] 101.9] 94.8
HIFER R 1.32] 95.8] 97.4|| HEE H AT 1.61] 107.3[ 100.8
HEER RINFE 1.42 102.3[ 99.5|| BEFER A ZFET 1.60| 99.6] 97.7||/EBR 1.58| 97.2| 96.7
HEFER LagENIb S 1.37] 97.3| 101.6|| HEFER VLAFET 1.59| 97.9] 92.4
HEFER ) 1.57| 107.2]| 101.7 PN=hil 1.51] 93.9] 95.1
HIEFEL TG LA 1.39 105.1 96.9|[BHRE 1.72| 99.0| 94.3|| KB FX 1.15| 101.8| 100.3
HEED N==dilvs) 1.30] 99.1] 100.7 N X .52 97.1] 95.1
HIFEL N 1.36| 8.7 101.0|| EAITT .66 96.1| 95.2|| EETH FAX 1.48] 95.6] 95.1
HIFEL A A 1.26] 107.4| 102.0|| w=HETH 1.77] 103.3 101.3|| BB [iE]ES 1.45] 93.3] 96.9
HE Lr7| 972 92.9|| EET L X 1.80] 88.8[ 90.3
FoaRIL R 1.50| 107.7| 107.5|| &M 1.81] 103.5( 93.8|| KB LAt X 1.35] 95.8] 99.8
KHEM 1.86| 104.0| 100.1|| KB ZHEX 1.72] 93.6] 95.5
Fnagk L 1.51| 108.7| 111.1|| ZeskH 1.63| 96.3] 94.0|| EET PEfE X 1.56] 89.7| 89.4
R T 1.33| 105.4| 104.4|| jmaed 1.78| 104.8] 94.7|| & 1.58] 105.2| 104.2
wAT 1.32] 103.3] 99.7|| ZmEH .65 97.1 9u.3|| MEE 1.47] 99.2[ 95.5
HHET 1.48| 114.3] 115.8|| 1=%# B EERT .70 101.0] 94.1|| =JEH 1.61] 100.4f 92.1
[kt 1.60| 112.8] 117.8|| #xmE#ED AR AT 1.74] 97.3| s9.8|| R 1.55| 105.3| 104.1
M 1.56 107.2| 102.7|| EB&#E JIAET 1.69] 104.4| 90.7|| @@L .73 97.7| 97.2
FrEm .77 111.2| 108.4|| E%E Bt 1.73] 103.6| 95.0|| JFFPT 1.51] 97.7| 95.3
foo)I 1.36| 105.5| 113.6|| E&E BT .78 90.7| 89.9|| =ww 1.78] 98.9[ 92.9
AT 1.58] 97.2| 100.7|| REERER NS AT .72 99.9 89.4|| EES 1.78] 100.3] 95.9
BEED HOEBFHT 1.34| 107.7] 95.9|| RERER HEET 1.83 99.1| 91.5|| KR 1.58] 95.4] 89.3
(FERER N X 1.43 104.1| 101.8|| PB2IEER T 1.68] 96.0[ 90.6[| HIEBT 1.61] 92.7 96.3
FERER JUEE ILmT 1.36] 105.0] 107.0|| p2uER (P11 1.80 100.2| 9s8.2|| BT 1.49] 88.0[ 91.5
FERER & EFAT 1.47] 108.1]| 111.6|| R2usER FNFAT L.74] 97.3] 93.1|| ZH=mmT 1.68] 98.1] 85.2
HHERS GEET 1.51| 114.5| 116.0|| REUER RRsk > B ET 1.91] 101.9( 910l THEET 1.62| 111.6] 110.4
HHEES )BT 1.49( 108.1| 109.0 LEER JFHET 1.80] 92.9] 96.3
HHERS H H)IET 1.58 105.7] 95.0 LERR fEELing 1.86] 94.9] 94.9
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#HEitR WRETHRISESHREEE - BEEETH 1210 EER-LUOR-#58 - FIE - BRE - SME - EER
N EY 3 ANZ 3 ANZ B
— %;; EEIET b e BTA gi | merc T gi | mEse
s | B & waEE| B X wAEE| B &
LR RESFHT 1.51| 94.0] 105.3||F)IIE 1.62| 97.3| 98.7|| &EE e 1A+ 1.49] 101.2]| 106.0
il PHET 1.58] 100.2| 99.4 =il BB 1.48| 102.8| 102.4
LR TR HHET 1.65| 94.4] 94.3|| ST 1.67| 93.8] 96.9|| ZI=ED EXYiiY o 1.56] 108.0] 100.8
(L RER JbIs BET 175 99.71 90.8|| AT 1.70] 100.1| 98.7|| EMES NI 1.54] 107.3] 116.9
& AR Kl - SHT 1.59] 102.5] 101.3|| #HH 1.59 106.3| 99.8|| EMES KEHT 1.49] 112.9 114.0
izl HEFRAT 1.88) 95.3| 9L.5| FH@EFEH 1.57| 102.0] 102.8|| +1EER +-pElT 1.59] 95.8] 90.6
HAER A e AT 1.67| 94.5| 101.6|| BEHH 1.69] 100.1| 97.5|| +EES KNFF 1.47 102.8] 96.5
& 1.33| 95.4 9s8.4|| Z)IES VNODHET 1.36] 99.9 101.4
i) 1.56( 104.4| 100.6|| 23w 1.45] 99.2| 101.9|| EIER {=7&) 1|87 1.50| 101.7[ 93.8
=3 1.57[ 99.1| 100.2|| wEEES T 1.53] 103.4[ 93.8
TR 1.47| 108.6] 100.9|| /NEEB + AT 1.57] 97.1| 101.8|| EMES %) 11T 1.39] 95.0[ 95.8
FHET 1.56| 101.6] 98.0|| /NEER YNGR 1.64| 96.7| 96.1|| =mEER fagaling 1.48] 98.3] 83.8
o 1.51] 96.2| 98.2|| AKHEP ZOKET 1.43] 93.6] 98.6|| =EmEER TR AT 1.53] 100.1] 96.5
Eli 1.48| 111.6] 109.4|| ZFEJIER [ER=1) 1.58] 98.2| 9s8.9|| EMER A s 1.43| 104.4| 103.5
g 1.70| 105.3| 102.2|| #EFES FLERT 1.72] 94.5( 99.7|| EMES peiisding 1.61] 100.7] 95.5
TAATH 1.80 102.9] 99.4|| FEEKER i) I[ET 1.49] 90.8] 102.4|| =mMET 0475 +-HT 1.68 102.8] 97.8
A E 1.62| 100.8| 96.5|| fhZEERT |ZETHET 1.52| 101.3] 95.5| WELES KA BT 1.49] 108.8 110.0
et 1.63| 100.4| 99.3|| {hZERT |ZEEEET 1.64] 101.1| 98.2|| ELES ZJRAF 1.46] 95.5| 87.6
EFM 1.52 113.7| 107.7|| fHZEES |[EAD HHET 1.73| 101.1] 98.5|| WEZLER LVl 1.52| 108.7| 112.4
W 1.53| 110.4| 108.9
ES il 1.26 107.7[ 100. 4||(B@KR 1.53| 103.6| 101.6||[f@mER 1.50| 101.2| 97.8
JErE™ 1.64| 105.3[ 102.7
1L B8 /)N 7 1.61| 105.5 99.3|| #aLT 1. 44| 100.7) 97.5| ALl 1.57| 102.4] 98.8
KEED JEIBA K BT 1.50 109.1| 106.1|| &i&T 1.61| 107.3] 106.7|| At |FHEIX 1.45] 105.8] 100.1
EREER FNARHET 1.89] 99.6| 104.0|| =FFETH 1.75] 114.2] 113.8|| At |FK 1.55 106.5| 106.8
HEEER -BaHT 1.54 109.9| 114.0|| I\BEim 1.53] 104.3[ 103.0f[ dbSuT [FHEX 1.61] 105.3] 94.4
REERR FH AR BT 1.45| 102.6] 97.7|| BT 1.75 105.8] 105.1|| dbfud  |[hEIEX 1.51] 105.9] 99.3
REEAD SEAERT .56 95.1| 74.4|| WE&H 751 102.3[ 97.7|| AdbFum  NEREX 1.63] 97.7| 96.8
R ECED Faf ECHT 1.55| 114.2]| 105.2|| Ky 1.74 101.2] 104.0|| AchuMim  [\BEHRK 1.38] 107.3] 100.0
Fr 1.40| 108.3] 104.0(| AbJu  |J\IEFEX 1.65| 97.7] 96.6
R 1.50( 105.1| 103.3|| PEG L 1.66| 102.4| 97.3|| @M 1.32] 97.3| 92.8
[Eligist 1.66| 100.1| 98.4|| @M HIX 1.50| 97.8] 93.3
h3=ni 1.52| 101.1] 100.1|| sHETT .27 97.2| 9s.5|| wRT HZX 1.21] 101.9| 94.4
R 1.33| 106.6| 108.6|| mEEER LT 1.60| 108.6| 107.0|| @M Hg X 0.91| 91.2] 92.3
A BT 1.41| 108.8| 108.2|| LiZ/ES |ATEEHET 1.60| 106.3| 101.5|| @M X 1.39] 99.4] 95.5
] 7 T 1.61| 106.5 103.8|| FFER ARG 1.40] 99.1] 92.6|| wmET X 1.57] 94.8[ 86.0
HIF)TH 1.48| 101.6] 103.3|| BFEF RRERAT 1.33| 94.4] 97.6|| @M WX 1.30] 95.1] 91.0
RT3 T 1.44| 109.1] 111.4|| =£# AT 1.46] 102.4| 102.6|| @ RERX 1.45] 99.0] 97.8
s 1.42| 108.3| 100.9|| WEFFaER |GFI7ET 1.68[ 107.9[ 102.3|| K#&EHE 1.56 108.2[ 102.2
=T 1.53| 114.6| 106.2|| Jb==Foff |fAEPET 1.51] 101.2| 108.7|| AEEKTH 1.69] 102.0] 104.4
FEIHER FTHET 1.47 104.2| 98.1|| dvF=FaEp  |RALET 1.55| 106.5| 9s8.2|| ®EHH 1.64] 106.1f 98.0
TR R 1.53| 103.6| 108.8|| FEFFIAEL |=FEEET 1.69| 107.9] 108.0|| #RZFEH 1.69] 105.9] 98.4
2 AR {EEBRIAT AT 1.43| 107.5| 110.2 mI 1.71] 116.3] 108.8
4 PEED HFEHET 1.48[ 101.0f 102.2|[E% K 1.48| 102.0 98.8|| MWl 1.47| 107.8| 104.6
2 VAER fe (LT 1.41| 111.2| 105.5 N4 1.62| 102.4] 98.7
HEER Bty 1.59 101.3] 96.5|| s 1.46] 99.3] 95.4|| #HkH .77 97.0] 101.3
HEERER 3 1.49| 104.6] 97.5|| =AW 1.54] 120.1f 127.2|| XJITH 1.37| 101.2]| 106.6
EERED EEHET 1.46| 109.6] 98.2|| =T 1.45| 104.9| 105.3|| 1FiE™ 1.80| 101.7] 98.1
AR HERGET 1.52 107.8] 107.9|| FEET 1.51| 100.4| 93.8|| g 1.65] 101.7] 99.6
R EFAD FATRRT 1.62| 108.0| 104.7|| +#&H 1.55 103.4] 99.3|| R 1.50 108.6] 103.6
R EF AR E[d=11) 1.66| 94.3] 97.3|| ZETH 1.53| 101.6] 91.0|| /INEBTH 1.46] 94.2] 88.2
HEFAD BE AT 1.62| 102.4] 99.1|| wmEH 1.59] 104.2| 99.6|| #HuLkEH 1.54] 94.7] 94.8
HREFER MR EFET 1.39] 108.2| 107.2|| +tEiEk 1.50| 109.6| 120.4|| &HEAHT 1.52] 94.2] 96.7
HREFER _ARET 1.41| 101.3]| 101.2|| PUH+H 1.63| 102.7| 97.5|| KB 1.70] 92.4] 91.0
EHEE D% XHT 1.50( 115.3| 117.8|| Fmwi 1.50[ 99.9 107.9|| Mg 1.57| 88.7[ 91.9
ZATER WAL LET 1.60| 104.8] 95.8|| &H=EH 1.37] 98.4| 90.8|| K=mFH 1.64] 88.6| 91.7
il BEHET 1.55 115.8] 130.7|| &&E 1.42| 91.9] 85.4
LERD Py il 1.57 102.8] 100.8|| @ 1.66] 95.4| 88.6
i) FH EFET .54 977 s7.1|| o xiEw 1.65 105.4[ 101.5
3l %2 T 1.56] 101.4] 96.9|| =& .77 112.2] 102.9
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#HEitR WRETHRISESHEEE - BEEETH 12—10 ERR - EER - RHE - BAR - XO8 - BIHR
N EY 3 ANZ 3 ANZ B
— %;; EEIET b e BTA gi | merc T gi | mEse
x| 5 & waEE| B X wAEE| B &

FERRT 1.58] 111.3]| 104. 6|| R KE 1.67| 103.3| 100.1|| LZEHRER |ZEHRET 1.78] 84.5| 86.1
#Ham 1.62| 111.6| 102.5 IEBEAR | FRERT .87 95.0] 91.7
HROE 1.39| 102.3] 97.5| EIEH 1.48] 101.2| 98.7|| _E#EIEER [ILERET 1.99] 91.5] 91.0
E=Tn 1.44) 99.4| 92.8|| {EtHART 1.73] 105.8] 102.2|| J\fRER JKJI AT 1.62] 96.4] 96.6
FERAD ARER[) I T 1.69| 99.6] 99.9|| BEH 1.89] 99.8( 100.8|| ZEALER F LT 1.70] 102.5] 96.9
FEERED FEMT 1.49| 107.9] 108.5|| #ERT 1.64] 99.3[ 92.7|| =EAvER HEARARET 1.78] 98.8[ 94.4
HEER TEZERT 1.77] 100.9] 91.7|| KAt 1.78] 99.2| 102.4|| EREEES SRAT 2.26[ 99.4| 102.7
FERED AT 1.75| 102.3] 98.5|| EFH 2.07| 115.0[ 100.9|| EREEES % BOKRT 1.96] 99.9[ 91.5
FERED JETERT 1.70[ 98.6| 91.4|| T 1.93 102.5 104.5( EREEES BrRITHT 1.85| 108.0[ 98.3
FERER HrE Ry 1.85| 94.8| 104.8|| xtETH 2.21| 110.5] 109.6|| EREEES K AT 2.02| 99.9] 87.6
FERER ICILIET .52 99.2 100.2|| =k 2.14] 112.0[ 105.4|| EREEES HHEF 1.95| 98.1| 102.1
A RER HHRAET 2.00| 104.2| 98.2|| IHBH 1.76] 108.1] 103.1|| EREEER AR 1.73] 96.9] 93.4
=g J=p=:11) 1.74| 104.9] 96.8|| TEUETT 1.87| 109.8]| 112.6|| EREEER LA 2.08] 101.1| 98.8
B ER TR 1.65| 106.7] 92.7|| ZEAfLTH 1.73| 104.8| 101.9|| EREEER EREEAT 1.83] 109.3] 108.9
BB [i] ST 1.46| 100.6] 92.6|| FEEEMT 1.87| 103.3] 99.5|| EkEEER HEE YR 1.99] 97.2[ 97.6
A ER AT 1.55) 94.1| 103.5|| WEMEAFES | REAT 1.73] 87.3] 84.6|| FREEF R laing 1.87] 98.2] 90.9

HFE /NPTET 1.56 111.0| 101.4|| VEAZAFES |FFEEmT 1.83 101.0] 93.8
HFE ¥R FHT 1.32 107.2| 108.1|| FEAZAHFER |SRAZAFET 1.56] 103.8] 95.0|| k4B 1.60] 97.1] 97.0

FAEER HE 1T 1.66| 102.4| 99.6|| w#AEER |)IARET 1.62| 104.3] 95.0
A SLATAT 1.62] 92.8| 87.5|| FEALMFER |MfE RET 1.69] 99.8] 96.0|| KT 1.58] 91.2] 92.6
A BIEEFT 1.45) 108.1 98.8|| AckaimER |/MEEET 170 102.9] 101.1|| BuFFTH 1.38] 97.7| 97.6
=HER KITJYEmT 1.88 101.2[ 96.0|| AckaimER |EAET 1.90| 101.8 9s8.2|| thigf 1.89 106.3[ 104.1
ZURED KAHT 1.68| 104.8| 110.6|| FEEER [Hr EFEAT 1.79 110.4| 108.6|| BHET 1.75| 104.3[ 100.9
I\ % EB )BT 1.73| 101.9] 96.5 [ (=i 1.64] 101.2] 95.6
1B EHERAT 1.73| 105.5[ 108.1|[pBA<E 1.66] 94.9| 94.5|| F&FH 1.45 97.3] 100.1
) IAD VR FHET 1.61| 113.2| 103.2 AR 1.55| 103.8] 94.6
MR Sk HET 1.94| 114.9] 107.3|| mEATH 1.54] 89.9| 93.4|| mrm 1.66] 93.0[ 95.9
AR )1 I RT 1.74| 124.8] 116.0|| HEAT Hr X 1.26| 93.5| 97.0|| BHEAET 1.75| 102.6| 105.1
H)IEB pNER 1.71] 112.9] 100.6|| pEATH HX 1.59| 85.1] 92.2|| #rEEH 1.60] 99.4] 99.0
) IED Gl 1.68| 103.5| 108.5|| REATH [iE]ES 1.50| 97.1] 97.9|| =L 1.74] 105.4] 99.8
H)IEB & T 1.78| 115.0| 104.4|| REATH X 1.80| 85.8] 87.5|| B KEH .57 95.1] 95.2
FUELER X7 FHET 1.91| 100.6| 103.3|| REATH X 1.74] 90.9( 93.0|| HAETH 1.60] 91.3] 95.2
FEER B ZHT 1.44) 98.9[ 90.3|| Nt .72 102.9] 100.1|| E &K 1.58] 99.0[ 102.0
£ LER HEAT .77 107.1| 107.8|| AFHEH 1.92] 93.1| 93.5|| FmEEHER [EEA 1.66] 95.5| 92.4
£ LER -=gAT 1.60| 112.6| 109.8|| R L.77| 100.0 96.4| = EE A HAT 1.64] 93.3[ 94.9
e EAToy 1.71| 108.2 107.9|| KR .73 93.6| 94.0|| EERER FLEEHT 1.83| 98.4[ 94.7
4 1.67] 94.4| 96.3|| EREEER EATRAT 1.76| 96.4[ 98.8

BRI 1.63| 102.0[ 99.1|[ 1LpEH 1.65] 95.5| 93.7
St T .72 97.5| 93.2|[=iKIR 1.71| 100.4| 97.6

= 1.54) 99.8] 100.3|| =+ 1.67| 89.2] 88.3
FE T 1.80| 108.5| 103.4|| EFR=EMH 1.70| 107.5 104.5|| =& 1.60] 94.3] 93.1
AT 1.62| 95.0] 94.1|| =R 1.66| 95.4] 96.2|| EIkTT 1.79] 107.9] 102.3
L 1.52| 108.7 103.7|| FaEEH 1.84] 92.8] 82.0|| iERTH 1.78] 102.7[ 99.9
FHEM 1.95| 106.1] 94.0|| FEH 1.91] 103.3[ 99.8|| RAEFH 1.70| 104.3| 102.7
BT 1.71| 102.2] 101.3]] A& 1.92[ 90.0] 88.9|| /IBKHT 1.88] 99.0] 91.6
B BT 1L.77) 1019 97.3|| TEEkER |EEET 1.55| 98.9] 93.9|| mm@® 1.81] 97.3[ 93.3
/T 1.65( 104.2] 99.9|| E&EL EHET 1.65| 100.4| 99.8|| BRI 1.96] 103.3] 102.8
BB 1.53] 96.0] 91.3|| E£#E A BEAT 1.71] 106.1| 101.3|| 7EERT 1.65| 105.6] 95.9
ET 1.58 103.8] 97.6|| E&EB el 1.86] 96.7] 93.3|| Voo 1.88] 103.3] 109.5
FREFRR B 4 EET 1.68| 97.3 104.6|| E4#EP FnskAT 1.76 101.5 85.7|| ALEBEER | =AXET 1.87| 99.3[ 91.4
ZEFRILER |FELET 1.34] 92.8] 89.9|| zguLER KEEHET 1.92| 89.6] 90.2|| PEFEREL |=JEHET 1.71| 104.5| 107.6
ZRILER | MERT 1.68[ 99.0[ 99.7|| HuuER HGR5ET 1.88] 87.2| 87.3|| WFEEE |EEET 1.48] 99.2[ 94.3
SRR | HOXHET 1.58| 96.5| 104.0(| PTERER r /NEIRT 1.74] 100.0[ 102. 1| HFEEER |fkEET 1.73] 98.0[ 97.4
BRAEER | RUEHET .77 105.2| 101.7|| FarEERR /NERT 1.82] 102.5( 93.1|| JREBER BT 1.73] 98.8[ 99.8
FERAER |G HAET 1.66| 99.2[ 95.0|| FAEEER E L.71] 92.1| 97.8|| JRBES HE AT 1.81] 103.9[ 96.3
SRR KETHET 1.60| 108.3| 106.1|| PFTEEER AR 1.78] 91.3] 94.9|| REES K AT 1.78] 102.0] 97.6
AR JTACET 1.69| 110.2] 98.3|| FTEEER [E)vn) 1.63] 95.5] 93.3|| REER ARIRET 1.91] 95.5] 95.7
B ER HRET 1.53| 100.6| 93.5|| FTEFER o A R 1.64] 90.0[ 92.5|| WRBES JIEE AT 1.67] 100.7[ 92.3
JEREERR KEET 1.69| 106.0| 104.5|| _E&EIKAT  |GARET 1.52] 94.1] 92.5|| 'RBEE D ERAT 1.95| 110.3[ 99.9
RAEERED | ST 1.89] 90.1| 90.3|| BEEIFFED [F9)IIET 1.90| 108.5| 108.6
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HEtE TRERETHBISHISREAEE - |ELETH 1212 HFR - ERBE - HER
A= 3 PaE —
—— %;; EHEIL I b e BTH %;; EAE(L AP T b
wER| B S wER| B S
WEMER  [EEA 1.78] 98.9] 91.0|| sk 2.19] 106.7| 97.0
WEMFED  |HEZER 1.95| 95.9] 97.5|| @S 1.97| 100.7[ 94.6
BEMFER | SEURET 1.82| 95.1| 103.3|| &R 2.11| 92.8] 81.1
FEEFFRR  |& THERT 1.82| 94.3] 98.2|| 25w 1.97| 107.6] 91.0
PHEIAFER | B 2 BHT 1.71] 105.3| 103.6|| =EHET 2.35 105.4] 96.6
FEEIRFER | FL s WRAT 1.82] 98.4| 95.7|| mEEKTEH 1.96] 93.9] 85.1
[EFHAD ESEEYS 1.81| 102.4] 87.5
EIRER 1.68| 103.1| 99.7|| [EFEER KEWFS 1.91] 104.2] 90.7
ESfEi B .93 96.7[ 92.9
R 1.51 97.9] 97.6|| HzEES SIRAAT 1.92] 85.4[ 81.2
R 2.01| 100.6] 99.3|| E#EES AERT 1.95] 99.1| o91.6
BRI 1.63| 112.0| 102.5|| MEwEER Jticran 1.77] 110.5) 94.8
Fa] AR T 1.71] 108.1| 104.6|| MHEFEER B3R 2.29] 95.9| 97.3
Hk 1.92| 105.9| 103.9|| HEFEER SEAT 2.47| 106.5| 86.3
fergm 1.65| 106.4| 104.0|[ EEEET [Eipam 2.12 103.8] 91.9
[ 3t 1.87| 109.8| 103.0|| HEEER PERFT 1.86] 95.7] 97.5
EAKTH 1.63| 107.9] 103.3|| HEEER BTN 2.05| 105.7| 85.9
FEEE) 1IN T 1.89] 100.0| 94.7|| rhEEER AT 1.90] 92.2[ 82.7
HET 1.61] 96.7| 96.6|| EEER Bzt 7o 1.91] 88.3| 71.9
HRTT 1.68| 107.6| 103.3|| rHEEER HRIAT 1.86] 92.8] 75.7
ZEm 1.72]  98.8| 93.4|| EEER a5 T 1.75] 84.7| 82.4
b E AR 1.56 103.5| 103.5|[ BEFRE 5 BRJRHAT 2.17]  98.4] 86.1
HEoFf 1.73| 1057 105. 3| BERE A JEJF AT 2.22] 84.8] 79.9
A 2.03| 109.3| 100.8|| BRER 1 FEHOR .79 99.3[ 91.2
#EH 1.88| 113.7 101.8|| BERE JEE i A 1.91] 101.7[ 99.8
A L T .71 107.1| 101.5|[ EEES EER 1.98] 91.6] 96.1
P 1.87| 112.3] 101.6|| ERE B ER 1.91] 100.3[ 94.1
IR 1.65| 95.9] 92.3|| BRE [EENEa 2.30[ 96.0] 92.1
BIREE (=8 1.59 104.2| 984l BERE ALK HAS 2.14 101.8] 91.6
BIRSE |+ 1.72| 101.8] 97.9|| BERE FERAT 2.07| 93.6] 95.5
PEAEER KO FHT 1.64| 982 100.3|| BERE PR 2.07| 105.2| 90.4
H7KER R BHET 2.20| 113.5 109.1|| BRER A KT 2.07] 99.9[ 95.5
I AR 1B /KHET 1.81] 100.6] 96.8|| BRE J\EHERT 2.15 103.4| 86.6
ERER KIRFAT 1.88| 117.2| 107.2([ EEER % BRI 1.91] 102.9[ 96.1
AR A RET 1.80 106.6| 112.8|| J\EILEE |PTEHET 1.63] 92.9] 87.4
FEES SRITHET 1.67| 108.0 97.7|| J\EWES |5HEAET 1.98] 100.2]| 100.7
JiF B AR R K BEET 1.67| 102.0| 105.6
JiF B AR JFAFET 1.78| 106.8| 107.3
HEEER FRAE T 1.95| 104.3] 97.8
REEER FAFETIT 1.99] 108.4| 103.9
REEER RIS 1.99 109.6| 101.3
KEER KFIRS 1.83| 108.6] 103.9
KEER FRRA 1.90 111.8| 104.4
KEER B NET 1.92| 114.1] 99.8
REER HEARAT 2.13| 110.4| 106.5
KEER ERET 2.16| 109.8| 105.0
KEER ez AT 2.40| 111.2| 95.6
KEED RIEHET 2.28] 107.7| 94.6
KEED FHILET 2.46] 106.8| 105.1
KIEER FyamET 2.15| 109.1] 93.3
KEEB Fn4 |7 2.26] 108.1| 107.7
KEER SmAT 1.99 103.9] 91.2
TR 1.93| 99.3] 90.5
FiS==sl 1.68] 101.3] 97.5
HEET 1.95| 97.9] 86.8
T 2.14| 105.3] 94.3
TEIRTT 1.91| 92.8] 86.5
E i 1.89| 98.2] 82.0
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